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Please read and follow the instructiong on the OMR Answer Sheet for marking the responses and the
required data.
2 The candidate should ensure that the B
Code supplied are same.
3. Immediately on opening the Questign
(i) The same booklet code (A/B

ooklet Code printed on OMR Sheet and Question Paper Booklet

Paper Booklet by tearing off the paper seal, please check for
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Time : 3 Hours Marks : 200
Instructions:

(i)

(i)

Fach question carrics one mark.,
8 (BHD &8 Sty Sodh.
Choose the correct or most appropriage 4,:.ver from the given options to the following questions and

darken, with blue/black ball point pen ¢ corresponding digit (1), (2), (3) or (4) in the circle pertaining to
the question number concerned in the QMR a swer Sheet, separately supplied to you.

Br0D By B8 BHHD ABWES B Ko, HLPTEEND JPED OO SrDoB @od (1), (2), (3) 88
(4) SBore 55 OMR SIrGe B (59 50008003 Sot o HBEH ap/eps ard Sawols Dy
ASBFACD DOBHBY.

3 3 3
If 2x — 5y =7z — 3y then, for xyz 0, X~ 343"~ 8y” _
Xyz

3 3 3
2x —5y=7z-3y, xyz# 0, ©o0IHH 8x” 3437 -8y~ _

xyz
(1) 80 2 82. 1)( 84 4 86

A person travels from A to Bat 75 kmph in a Car and in the returnjourney the speed is redu.ced by 15 kmph.
If the total time taken is four-and-half hours then the distance (in kms) between A and B is :

&8 S58 A 08 BE 56 (S5m0 ot 758, 8, Srfos® 38, B0 (Saieeos® IRy rowsd 158.5
BROTHD. G Ando (BATETRS TenrHYS Kobdeo HHB A, B o gy €rBo(S, .08 :
(1) 100 2 120 @ 140 @ 150

Three persons A, B, C start a company and contribute a total of ¥ 10,70,000 towards its ru.rming.- A
contributes Z 50,000 more than B, and B contributes ¥ 60,000 more than C. If the company earns a profit of

T 2,72,850, then the share of A is : (in rupees)

Sty Sgen A, B, Cen ¥10,70,000 iyods® ¥ KoV @ EodTB. BRynd 57 ADipnd T50,000

agjéné 2830 C Dévod ggja B 3;%3&)& T 60,000 E)é)&_a'). w S02d8 T 2,72,850 ergfo E'J'gg woHe® A
L [5)

T : (Grpdroved®)
(1) 104,550 45 96,800 @) 91,800 @ 76,500

The volume of a sphere equals its surface area only when its radius (in units) equals :
&8 o $os0bsrno ool 080 Bererss JErSHA Sdeo g0 (creE®) (Bod SoagH

BRSSP SEED :
M 1 e @ 2 @ 4 Sl

If the angles of a triangle are in the ratio 2: 3:7 then the largestangle is : Y

5.3:70586° 808, TEE ©8DY &0 :
Z? @?5:06% e :1%5" (3) 120° 4 150°

The number of positive divisors of 1995is:

1995 Gw¥) G gresste Pogy fS)/ -

(1 ) 8 ) 16 4) 64

e ——— i< g
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While walking a distance of 24 km, a man noticed that after walking for 1 hour and

5 A . .
40 minutes, the distance walked by him was = of the Fémaining distance. His speed of walking is :

(1)  4km/hr (2) Skm/hr f" 6 km/hr 4) 8km/hr
o 58 24 8. 2. tovoeR) SPOREED Bcirdoscrs pADENBOR 2.8 Kot 40 Do EBaPe KSVODRBHOS

1) 485 /K. (@ 58./Ko. 3) 68.5./Ko. @) 88.%. /0.

A certain sum is given on compound interest at some rate. The sum amounts to ¥ 7,350 and Z¥8,575at the
end of 2 years and 3 years respéctively. The sum given on compound interest is :

508 Rrduyh Eod Bend SESES adwlhod. © frdin 255 HoHHTFOEPS HBAD 3 HoBE)ToES

(1) 5,000 % 5,400 (3) 6,000 @4) T 6,400

The least multiple of 7, which leaves a remainder of 5, when divided by 6, 9and 15 s :

7.
0% [BSrBoDS Erto DADS BrE0st ; 4 S0 ®D. w3 S&8 Bro -
8.
Sodre T 7,350, 8,575 mm eowod. SESE8 ad)d vy :
9.
¢

6,9 %0BS 15 ©F grROSM™ 5 b $ix 4od 7 AwE) rHdered® 0B 03 Sogy :
(1) 450 Q)/ 455 (3) 560 @) 378

10,

=
Taps A and B fill an empty tank individually in 8 hours and 6 hours respectively, while
tap C empties the full tank in 12 hours. Due toa problem tap C could not be closed. If the taps A and Bare
opened alternately for one hour each starting with A, the time taken (in hours) to fill the tank is :

¥ g &80 A, B o3 Bom DEDEMT SKI 8 fotew, 6Koten HSches® odre, Ced Ho Jotd
62 12 fowd’ o8 Bp08. o Ky S S C R Surd Sahtro HEY Bt%. A, Bod SKHIe L85
Soxi 288 2.8 Kot Fen DYEr, & 6B A S (G0 & & Doktrs 58 Bavo (Kotrdd) :

@' 6 8 @) 16 @ 24
,
11. January 1, 2018 was Monday. Then January 1, 2019 falls on the day :
,(*{ Tuesday (2) Wednesday (3) Thursday (@) Saturday
223558 1,2018 5 RbSozrdo. @ a¥Es 1,2019 B $J) B0
(1) HoKgardo (2 oo @) Ko @) o
12.

A tent is in the shape of a cone surmounted on the top of a cylinder. Height of the cone is half that of the

cylinder and the base radius of thecylinder is 3 m. If the canvas required for the tentis 198 m?, then the total
height of the tent (in meters) is :

i oo o) e°Bo 28 JZT0 P 0% BHoNseRD. oD I, wmo JHE® Bio Bk
Ao gbe g0 3 8. HEroR8 SOIR ] g 198 .2 o8, HEso 380 & (wgs®) : (;

OB @ % o 8 @4 12

4-D
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13.  Threepersons P, Q, R starta company wig, their contributions being in the ratio 315 After 3 months,
P withdraws half of his contribution, ang gte, another 9 months ; a profit of 3,16,000 is divided among
them. The share of P is : (in rupees)
Sl fhen P,Q Ren = z' g VDBE® 2eyet D .8 KoBHY ooty Kt Boo S&S P
83 2igodd’ ks SUVHOLRD. 208 g0 Fov S SO e 73,16,000 B SoHEHOLRE.
06" P8 SIS e (Erdraved®)
(1) 1,20,000 @  1,00,000 ;a)/ 96,000 (4) 90,000

14.  The remainder when (67% + 67) is divided by 68is:
6757 + 67 % 68 8° growe $3) 3o
ﬁn/ 1 @ 65 (3) 66 4 67

15. A train starts with some number of passengers. At the first station, one third of the passengers get down
from the train and 280 passengers get into the train. At the second stabon, half of the passengers get down
and 12 passengers getin. Now, the number of passengers in the train is 248. The number of passengers in
the train at the beginning is :
FodH0b (HardHes® ¥ Do pabeodtsd. Fnsd PAHE® Krdow 28 Ho (HardHen A
280 5008 (HAirBSen Bend®s (H58008. Bo&® PADE® @HairdHd® Ko Hob BAJT 12 Hod &°8
(5538008, 2 Bens™ (HoirdHe Sorg 248 oond [Fogod’ Jend® &) (HasrdDe Sogy |
M 192 2 288 @) 324 4 376

16. If ABCD is a cyclic quadrilateral in which |ABC = 47° and [BCD = 97° then |ADC - |BAD =
ifab Setsmo ABCDE® |ABC = 47°, [BCD =97° ®owd |ADC - |BAD =
1) 40° , (;)/ 50° @ 60 @ 70

P-T 5-D
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derof theelements in the ot (_‘i
5

W[ ro
2|3
™

J, then the correct

=W

fa; a; 2y a,and ag are the decreasing © s

. onin 188 -is -

matching of the values in List - I to those given

@ B30

S8 {% 273 _51] &9 Fapos P A3y 23 4y, a5 ©aDE @Bge-] &0 Dense;

O - 11 508 e85 08
List-1/erfae-1 List-

@ a -a, (i)

/=11

W] =

b)  2a,-a (i)

(©  5a;-4a, (i)

M= o=

/

The correct matching/ 580 &6 :
(1) (@), (b)-(i), (0)-(iv) A @ ®)-), (o))
®) (@), (b)-(i), (c)-6) @ @) b)), (o

18.

A and B undertake to do a work for ¥ 6,000. A alone and B alone can do that work i
2 S ork in 6
respectively. With the help of C, they have finished the work in 3 days. The share of B's :: : and §'days

A, Beo 2.8 330 76,000 0% S008 2.83)060 HEOENEB. A, B o0 DEDAM e 539 SBIMe 6, 8 Goars’
Babrow, CRFao8s® 6 509 3665 8IN0. @) B - A
(1)  Z2400 ((2)/ % 2,250 (3) T2,000 @ T1,500

19.

The ages of A and Bare in the ratio 2: 5. Eight years later, the ratio of thei will : i
s, e 1 eir ages will be 22: 43. Their present
A S0din B G Sabidines 2:505)86° aTmon. VDB SosE)Biven Shied, 0 Sabdine 958
22: 43 0H&HoD. O (SRS Sabigen (Son ©b) ;

14, 35 (2 16,40 @) 18,45 @) 20,50

20.

IFF, Q, Rand S are the mid-points of the sides AB, BC, CD and DA respectively of a quadri
the quadrilateral PQRSis a : b L A respectively of a quadrilateral ABCD then

(;) SRq“;‘]fl ()  Rhombus
3) FoAngE ( Parallelogram

S&tmo ABCD 6% ¢haren AB, BC, CD dais DA © o655 Bodoper SKI™ P, Q, R, S T8, sid
S0 PQRS2.E :

1) S&HB6o

B) ByssYFo Q SISm0

(4) Dhrosy SEBYeso

21,

How many times, the speed of the minutes hand js more than that of the hours hand ina clock ?

2.8 KA 80 Dope ;?ﬁm fote Suey o &) DRY Bt S ? .
2

P-T
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¥
irst term and the last term is 60. If the sum of the terms is 195, then

An arithmetic progression has 5 as jg ¢

the common difference is ;

0.8 woddt ) IO Do 5, D56 s, ) sore Ivdo Dend 195 B S0BLO |
11 2 o9 @) 7 @4 12

23.

Pt ____-‘_‘--"—I—\_-_‘L____-——
A piece of work can be completed by A, B an g ¢ individually in 12, 8 and 6 hours respectively. All the three

worked for two hours.at which point of time C Jeft the work. The time (in minutes) taken by the other two
to complete the work is :

A, B, Cen DEDEM 2.8 IAI SRM® 12,8, 6 gopes® 78 SabKew. Koty DS Bokb fotes 5 T
o C S60 I, DRDI 2t Ko8 ¢ 50 G Toerds $GS BiHabo (AWXE) -
a 12 2 24 3) 62 w7 !

24.

: BT, VPO @SS Z;ﬁ,}aﬁébés DS ergf S
23%

s e ——

3 N
A person sold 1 th of his articles ata profit of 25% and the rest of his articles ata profitof 17%. The overall

percentage of his profitis:

3
2.8 558 08D 5 &) BHHOS T3 Som, 25% B e, Difer SWHOD 17% ogdoss

(1) 24% @) 22% @ 21%

In the figure given below, ABCD is a rectangle and CDE is a semicircle. If the length of the rectangle exceeds
its breadth by 7 units and its area is 98 sq.units, then the area (in square units) of the semicircular region
CDEis:

& 8ob dos® ABCD a8 ég’déw@m, CDE 2.8 wgée)éo. 59;5.1:5@:1» LY oo ey %08
7 SSrddn ©fEore Goéar, 98 SHBR) chrdy Seveso 89 aod, OIPDO @gég)qgsvdo CDE (&rod 3&ve50
(S865 drdes?) : e e

E

D 1C

A —p
m 7 Y @ 4 3 57 4 77

26.

In a class of 30 students, 10 members of Physics main have average of 72 marks, 5 members of Chemistry
main have average of 66 marks and 15 members of Mathematics main have average of 80 marks. The

average marks of the classis:
30 08 dghes Ko o SBKOL’, F8E TRO BeSore Ko 10508 Dghe SSs Setyen 72;

BRPaDs BP0 (Bersore Ko 5HH DO Joe0 Srtinen 66; KBS Ko (BErsore Ko 15 08
Demgepe SO0 rdipen 80. SEKS® ol TGRS VUK Entipen
1 69 @ 70 @ 74 /( 75

27.

A car completes a journey in seven hours. It covered ha!f of the distance at 40 kmph and the remaining half
at 60 kmph speed. Then, the distance (in km) covered is :
28 S 2.8 [Haired) Db Kowdd JPEBRD. ©8 AnEs Brio KroeY ot 408. 2. Srod*Se, HADS

SKo oD Kot 608.2. 3085w e TR, OYID, [HairBodS Imdo Erdo (8.5, o) :
(1) 280 2 300 336 @ 420

P-T
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js doULI€ the loss jncy E

28 The profitcamed by selling anarticleor {1077 rred when the same article is sold for

make 30% 9
T850. At what price should the article be S0 kiﬁh;@@x” T BSI;r:f“ . 3
il 5@@& 210005 93383 53,_)'-‘6 ergiaD, & ] gcﬁ)éa 3 D) 5%35 CotH Bta (1] E’J"n&)&b}&)

D HB8 oS, ©38 30% g Si00 ? ) 1170

1) 1100 2 1150 @ 1270

' em ' ]
2. Ifthesideofa square increases by 21% thents a;i;gaa‘mﬂejkd by:
28 S88550 ghaos® BerdEe 21% SansYS (-3.) 50 1OAA :
1) 42% @ % 46% @ o

30. The distance between two stations A a'?d B 15 300 km. A person leaves the station A to
reach B. He starts at 10 AM by car by driving with iil];apeed of45 kmph for the first two hours and remaining
distance is covered by driving fast and reaches destnation by 330 PM. The speed (in kmph) with which he
travelled from 12.00 Noon to 3.30 PM is:

Bot PAK A, B o gy drso 300 8. A Dol achen 3o o5 358 B Sorosoird.
B565H0 10 Kobo, Hob 45 8.5, 3K08° IO Bod Hovwew s (Busmdoms, 3R 20D e

B (Batrdon . 3309, o MR SOFTD. $.1200508 3. 330569 €8 BarBos

f;;%oué} 8.5 06 :
60 2) 65 @ .70 @ 75

31.  Alent¥ 5,000 to B for 2 years and ¥ 3,000 to C for 4 years on simple interest at the same rate of interest and
received ¥ 2,200 in all from both of them as interest. The rate of interest per annum is :

Ae3 568 BE 2 Sosdpre T5,000 037, C & 4 SoSHres 3,000 0ir 28 Bend Foeom 548 o)
AT, ©3DE SO Iwdo 5§ 2,200 wond J0SETE @ $4 e :

(9/ 10% @ 8% B 7% @ 6%

32.  Person A completes a work W, in 6 hours while person B completes another work W, in 6 hours. If
W, is only equal to two-thirds of W, then the number of hours required for A and B together to complete

both W, and W, is :
58 Aes SO WD 6rowd rodcom HE'HE B HEES0 W, 6 Howd radadien. 59
W, 83 W, & Sirdlod Bots Sodh Sm(sh soll; A, Beo afte K08 eBotd Shose g Saperds
58 rowe Jogy: ; ,

m 6 @ 7 {g)/ 5 @ 8

33.  Five persons A, B, C, D and E start a joint venture. Their investments are as follows :

B and C invest equally; D invests half of C and double the investment of A; E invests twice that of B. IfE
receives X 24,00,000 as his share in the year-end profit, then the total profit (in rupees) :

0&orbd H58en A, B, C, D &80 E en 2,8 aiind argaroeR) (Bodomrth. 0 igeden (Bod sore
aIHow :

'B, C o Srdore Dtgeld 6, D26308 C 2enel8 B0 DO A Degels 880, E 2tped B Digeds
Oollosen. BoSHROS &506" 22400000 e s i D008, Wwifo ergo (Errand) :

(# a0 @ 54,00,000 (3/:7,00,000 @ 7600000

34. Aright a.rlgled isosceles triangle hag hypotenuse of 12 cms. Its area (insq. cms)is:
2.8 ©0® JDEERS (BeHad) 880 1208, vy Save (5.%0.2D. odb):

m 12 @ 24 /a)}o 36 @ 72
___‘__-____-_‘_'_'_'—\—-—.__

8-D
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AR 1A gets 50% more salary than B, they

VB gets how much percentage less salary than A !
B0l A8 50N ddo daw &,

A ‘w oo QOO D0 “a)r:;\\_ "

3 pd ! -
(n 25 () .\L‘- ) 50 )

36 By selling two tems cach tor 2990, merchant gets a protit ot 10% on one and a loss of 10% on the other,

The result to the merchant i this transaction is :
Lossof 1% @ Profitof 1%
d)  No loss and no gain @) 2\ loss

o dRQew afHEE Tooo § SN ol SPH0E wEOD 10N ergo oo, HB'Y @Op 10% Igo
SRR, B ovAVS' IFHIH SYY $0o -
(L) I R RSN )  1Neego
Q) I S, engar B () 2V S0
37 Avillage whichiis recorded having population p_.-m-\-th-_ul'_ﬁ'\\ annually has population 18,522 at the end of
the year 2013, The population of the village at the beginning, of 2011 was :
@8 JodFHodr, 5% aIege DS ISP ol (eood® 2013 B Nodgorod wargr 18,522,
7 2011 (@000 T8 » (e wIvgr
(1) 14,000 2) 15400 A 15,800 @ 16,000

38, Three cubes whose sides are in the ratio 3: 41 5 were melted and a single cube, whose diagonal is 24 /3 cm
was made. Then, the sides of the original cubes are ; (in cis)
3:4:5 WYJS® ghassiven Ko Sovd HFZvoH S0N0Y, 2443 Vo.db Bgo Ko al HSSom Scind
SaodIa. ePpd, Ish Q)N HEwe Hudow (Ro.d.os’)
(1 121620 @ 91215 (3) 135,180,225 ,(45 15, 20, 25

39.  ABisa line parallel to the line PQ. 1f C and D are points on PQ such that the area of AABC is ‘a’ square
units, then the area (in sq. units) of AABD s :

NEEBe PQ S 35088 Dw AB. Be PQ R Dothen C, Den; AABC Jerexso ‘a’ S8 chrdty oditnol
SQID AABD Jerogo (S8 cmdge®) :

A a @)

40.  AB=13m s the diameter of a circle. A manmoves from A in a straight line and meets the circumference of
the circle atC. If AC=5m, thenCB=
1 8m 2 10m A 12m @4 11m

&8 HISH Do TS AB =13 D, e85 A0S o $EE3pD BarBod §ES6E P Cod Dot
S6E 0. AC=5D,. eowd CB=
1M 8. @ 10 @ 1n2d @ 1.

ro| =

@ 3

w |

@)

41, T78.400 was divided among three persons A, B, Cinthe ratios A: B = 5:4and B: C = 6:11. Then, the share
of Cis (in rupees) :
T 78.400 St Jgen A, B, Coh, RPH0 A:B = 5:4300k0 B:C = 6:110¢° 503 0dSs. wp,
C8 3 So (Erdraved®) :
1) 31,200 @) 34,000 A 35200 @ 36,200

P-T 9-D
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2 + . N =12, thenavalueof xis:
x-1 x+1

B gD =12@m3x&n5&&§§}wéi

x - x+1
3,/1' 6 @ 7__#_*#_—(3) 8 @ 5

If

43,

If each side of a square is decreased by 25% then the ratio of the area of the resulting square to the area of the
given square is :
28 SHB(BO (58 ghwo 25% SAD, SE™ DGES iég“pvgaugmé, 58 SHYH g8 Ko DY

Lets be 162% of 24 t be 331% of 9 and u be 20% 0f 25. If 5, t and u are the sides of a triangle, the angle
5 3 ’ 3 '
opposite to the side of length uis:

24 & 163%:0 s ©, 9&° 331%3 e, 256 20%D u® W08, s, t, uod ghere ﬂ*cﬁé}mm e 2.8
3 ! 3

(Bgheost, DD uKe ghad s Bo
1 30° 2 45 (3 60° /u/90°

Length of a rectangle is five more than twice its breadth. If its area is 273 sq.cm., then the area (in sq.cms) of
the circle, whose radius is equal to the breadth of the rectangle, is :

o8 BESHBP0 FEH O banH DGoDER) wawdd s, R Feege 273 3.%0.2. ®ond, @
8 (5 Bey)d agRrgorr Ko HE JTee (5. 20.80.06% :
346.5 @ 12325 3) 140 @ 210

The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than

captain. If the average age of remaining 9 members is one year less than the average age of the whole team
then average age of the whole team is :

(1) 22years 23 years (3) 25years (4) 24 years

11 008 Heb5e0s ¥ BES poBH TRS Sabdy 26 Dy, g I8 8§36 Baby I Sady) Kol
3 BoBdyoren HEND. Do B)oBH FT°HB SALRY) Ko LADS 95008 ¥ghye JTH0 SaHy) e8 JoddyKo
B9 o8 & IwEo 8ot VoW HAHKY) :

(1) 22R058yoen (2 23J088\oren (3) 25 Roddoren (4) 24 J03&oeen

47.

A person A starts a business with an investment of ¥ 1,00,000. After two months B joins with him withan-
investment of ¥1,20,000. After eight months C joins them with some investment. If the profit at the end of
the year is shared equally, then the investment (in rupees) made by Cis:

28 58 A, T1,00,000 T::é.:gm&é‘ a8 TR (EoHoBd. Do Jov d$Hard T 1,20,000 1:&32:&8‘ B
2850, WG Joo SOTE 508 Diypds* C o8 BdBORN. VoSHToSAY IS ovgr O
Ravorr HoHE°oB, C 2eReldr RS Ando (Krdrond?) :

(1)  5,00,000 2)  4,00,000 3y 4,50,000 (4)  3,00,000

48.

The number of digits in the smallest positive integer which is composed entirely of fives that is divisible by
99is:
pfoes® SHED DBE, 99 I grhosed 8% repols Somsd 80P TASN woBe Jowy :

9 2 12 @ 15 @4 18

10-D
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49. Aroomis>2metersinlengthand2g meters in width. The least number of square tiles required to exactly
cover its areais :
&8 1D Qo) BE5) 5.2 Dot H080tn oo 3kery 2068, & KB pYSore SHEES Sotos® SoTrecl
SPHORS oo Joyy :
1 96 (20 85 @) 75 }/ 65 ¢
50. If x = 03 thenx?=
1 =03 sodS® 2=
1) 03 @ 03 @\ o001 @ 01
S51., “Aand Bcando a piece of work independently in 12 days and 16 days respectively. They worked together
for 4 days and B left the work. How many more days A worked to finish the work ?
&8 HID A, B I/ DR 12 Beven, 16 Bared® 70 SdbKotd. TG S0 4 Beren 3D JDI
S0 BIY S0 Igeth. DADS SN o8 Faherd8 A S awose I Beven 5808 ?
1 3 2 4 5 @ 6
52.  Suitable term in the following sequence is : '
Bod evdEsnos® H¥8 ewans HEo :
, GIK, MOQ, ,
P LT I
(1) l:rgg1 (2) Ny (3) :.%I;];Y ‘ﬁT 931 A -
53.  Inacodelanguage ARISE is written as CUMXK. Then the code of WORLD in that language is :
28 §°E grid® ARISE d CUMXK e 700, oJpid @ gis® WORLD Gws) §°5
(1) YQPJF /6')“[ YRVQJ (3) YSPIF (4) YRPJF
1
54. The rate of income tax is reduced to 125% from 16%. If a person has taxable income of
T2,40,000 then the tax benefit (in rupees) is :
soras sy Bt 16% oD 125%8 SH0TE. 8 88 Ty IPoS & werdbo T 240,000 wavd
S56° wrr(Erdrondf) |
(1) 4,800 @ 6400 @) 7,200 4 8,400
55. A circle of 3 cms radius lies inside and touches all the four sides of a square. The area
(in 5q. cms) of the square is :
3 %0.. grgo Mo ad HEO o SSHGFost se, oD ©d) aoeres 3) 985> @od.
® SHH Jeego (5. %0.D.06%) !
(1 9w @ 9 G 18 ,(‘f 20
56. By selling two articles each at T 480, a merchant gets 20% profit on one and foses 20% on El.ll; other. In the
total action the merchant gets: y o~V T
4% | (2)  noloss no gain 2 e
o 4) 5% gain
@ 5% loss ( ga
S5 T 4808 ©Dys Botd SgHop et HGHIE L8P 20% ergo, Tol® AP 20% Sgo IR0, &
Wio orardDE® W SYDHIB SNIO -
M) 4%Sgo @ S B, e B
" @) 5% ergo
(B) 5% S0
P-T 11 . D
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Six people namely A, B, C, D, Eand F want tosit arounda heXa_gonaI table in the following manner,
A and B want to sit next to each other. Eand F want tosit Opposnc to B and A respectively. The number of
different ways in which they cansit such that abO\"-;':ond'tlUns are satisfied is :

A,B,C, D, E 50805 F o3 st Sghen 8 Brod SE8E° o Apersed oy Sy EPBS SoTd.
A0 Ben .88 588 74 SrEyssoH. ESOU Fe it B 5s80tn A o JXre SrOySSB0.
& DebErOLIbROMT e KBS HONS DTV RS :

® 1 2 @ 3 @ 4

58.

A person starts walking from a point A towards South for 100 meters and turns left to walk 40 meters
East. Then, he again turned left to walk 60 meters towards North and turned left to walk 70 meters towards
West to reach the point B. Then, the distance between the points A and B is (in meters) :

28 358 Dot A ol Eimo B $EE Fntser DG 100 exth $ETE &% s JHH BON 40 ooty
ERGp DS SETE.  DBerED EHDOS 800 60l agto 39 Baes HE A JHH 80N
70 Sty DEHE Behiiody Dotiody B Beotoayedh. APt Dotohen A, Bo oy &80 (otrgs®) :

1) 90 @ 70 @) 60 @50

59.

If TRIANGLE is coded as USJBOHMEF then the word coded as TRVBSFis: g -
TRIANGLE 2 USJBOHMF re §° % TRVBSF e §°6 Sahofs o :
(1) CIRCLE 427 SQUARE (3) - RADIUS (4) ROBOT

The area (in square cms) of an equilateral triangle of side 4 cms is :
4%0.8. gheso Ko Seridm (Beba Do (SB8Y o..08%):

o 3 o 43 - @) 33 @ 3

61.

If 8% of a property is T 1.76 lakhs, then 25% of that property (in lakhs of rupees) is:
25 6B’ 8% Dend T1.76 050 ©owd © 6RE 25% Deod (oFe Erdrandt) :

1 11 2 9 @) 75 _ @)/ 55

Note : In questions 62 to 64 pick the odd thing out.

¥

BSS : 62 5008 64 S8 Ko [BHS® $0 Do) HBoSod.

62.°'(1)" 0.000001 )  0.0001 @ 0.00001 @ 0.01
63. (1) POND ) LAKE @~ BRIDGE @ TANK

1) %ot Q 5% (@) $083 @) 3H
6. (i O0Q @ KL @) HI 4 FG
65. The nextterm in the following :

Bod TBE° SHed J8o :
3X5,5U7,7R11,11013,

P 1dL17 ! "2 138M17 3 13N17 4 13K17
66. Fill in the gap below with suitable number.
@O&‘m@% Eeleuny aoa;gai FrdoSol.
- 1.1 5 11
% 5hnt 26" T "1
i 6 8 2
M 50 2) 17 (3) 65 &) 82

:P."‘E s 12-D
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67.  The suitable term in the sequence given below is :
Bod aRys mmg;:of‘ %0 wavs Bxg .
OFLEG], FHK, GLL-_ Hjm
() H @ HN /g)' GIL 4 GM
i
68. lftwo cu!)es'» each of side 12 cms are joined face to face to form a cuboid then the surface area (in sq. cms) of
the cuboid is :
12%0.30.© gha0 Ko Do fbrre dngresss £ Deyd B wH 45680 Jeeo (3. 0. 5. 06)
(1) 1080 ¥ 1440 @) 1460 @ 1600
69.  The rational number with recurring decimal representation 0.1 24 is:
IS Serod DYGe 0.1 24 K0S exsdas Sosy :
4 41 43 47
M 3 30 ) 330 @ 390
70.  The total number of squares in the following figure is :
& BIOHD &%) HBE*D Indo SHTRre Koy |
1) 25 @ 26 &5 50 4 55
71. I GALAXY is coded as DXIXUV then the code word for STAR is:
. Y e
G;ﬂ,&m DXIXUY e S5& Schedd odpth STAR 8 6% $do :
1) PQXN @ PQM (3 PQOX &~ Poxo
72.  Fillin the following gap with suitable letter.
$OGES wEBes® 8od grbd Froosol
“ w -
ADIP___ . ,
®n X A2 Y @ U @ z
73.  For real numbersaand b, if asb=a+b?—3ab then et {J_ * ‘ﬁ} =
Mm 23 @ 35 @ s3 & 5o
P-T 13-D 237200
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Note : In the questions numbered 74 to 76, observe that each qu‘:_’hon(Q) is followed by two statements S, an-d S,.
You have to decide whether these statements answer the questiOn unambiguously. Mark your answer as:

(1) if(S)) alone answers (Q)

() if(S,) alone answers (Q) '
if (53 and (S,) together answer the question (Q), but neither of these alone can answer

(4)  if both (S;) and (S,) are not sufficient to answer the question (Q)

SRS 1 74 %08 76 565 aR)s @Ehed’ G0 BHQ) F TLM Jois G55Tes (Sy), (S;) @ alIsy
HSQodel. &% ;ngg,-sgmhoa@g,m, ad L:.ﬁ;’;da"uéﬁ@wnoﬂ magd Shooe JSHowosd PHH
aaa"m:)dae; .

(S1) S (Q) & erendityigd & siweriso (1) o ;

(S,) Sr(&3 (Q) 8 asarenSDB & Bagriso (2) o ;

(S1): (S,) & Botkr ©SKEP> KErGrPTYRKY, wotHe & 2 EErRE® aranSg B8 D 38eprdo (3) @

(Q) 8 SSrEesBEeRA (S,), (S,) v Botke HORENB D SErgrso (4) e HQoS0d

74. Q Is A a friend of C?
S) - A is a friend of B.
Sy Bis a friend of C. ,ﬂ
@ : Caadam? L.
S) B& ARretd.
S, C8 Byir.
75 Q Which number is alloted to the letter ‘'S’ ?
S) The 26 letters in the English alphabet are numbered 1 to 26 in the order they occur.
Sy - Thevowels A, E, [, O, U are numbered as 1, 2, 3, 4, 5 respectively. U)
Q ©550 'S’ 8 BeranodS Sogy D6 ?
S) wolf ESEroE’d 26 LETUH ©D &o% EH06" 150D 26 H5H Jomgen SercnoT,
Sy ofen A E, 1O, Ued S5 1,2, 3,4, 5 Soggess Seronomrt.
76. Q) : What is the area of the circle ?
S) The circle touches the four sides of a square of side 5 units.
S) The circle lies inside a square of side 5 units.
Q §& Jeregod ?
(Sp o, 5 eI ghesoniv a8 SHYKH areni® gheposr J))808.
B : o, 5 ey gheorie o8 SHBHo S8%e Aod.

77.  Suitable words that fill the gaps below are :
School: _______:Students:: Hospital : — _____ :Patients

(1)  Teacher, Medicines )  Class room, Medicines
(3-)’ Teacher, Doctor @)  Class room, Doctor
8ob Do rood $BLans Jorey :

Fvalof A g &)t:s"éc’gw g VT B

(1) Sareryding, Hothe @ 65K KB, Sothen
@) A>T, i @) S6r6 Ko, Do

ﬁé‘ 14-D
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78.  Which of the following diagrams Suits wel| to represent days, weeks and years 7
80d Dered® Db Bleren, Tomey, S0S e SPOODHLE SO KOEOL 7
L R
79.  Fillin the gap below with suitable worq.
Fruit : Reap : : Flower :
(1) Grow (@  Fragrance (3)  Bloom «f Fal
Bob 5B VOGS HK08® FrBoSoA,
POIW : HoLko : : HA)o
(1) Brwo 2)  Herdosto (@) D8doswo @4 oo
80. Find the value of x.
X DS sl
25 100 x
(1) 200 (2 210 L;)/zzs (4 230
81. Thevalueofxis:
X 0D : \
5 4 | 3] \0 e
[e]8]ox] [s]|7[8]et] [4]6]7]18]
7 6 E
1 136 (2 138 (@) 340 @ 140
82.  If the following square is rotated throviﬁh an angle 90° about O in the anticlockwise direction and then
reflected through a line parallel to AB, then the resulting square appears as follows :
806 SHBEY O ot 90° ey 536" (Pmo TR 6 ABS Sirostorr &) a8 By rom Sonagse
93, &) SesHo Bob dgore EVHED o
D C e
2 2
A B 0
B C A P A
H( @ ®) @
A D B c C C D
P_-r 15 - D
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83.  Theordered pair (x,y) =
Léé) MO (I, y) =
10 (23 @ 43 @3 @9 4,2)
84. Consider the following triangular prism ABCD. If three faces ADB, ABC, ACD are labelled as 3B, lv.i ;
respectively, then a suitable label for the fourth face BCDis:
8o @eherss Sé380 ABCD D Sl 0 S Swgren ADB, ABC, ACD 0 Sire 3B, 1V, 3
o8 0D, Tod Sop@d BCDE S0 o8 &mdS
D
1V,
B
1 4G 4Y (3 40 @ 4
Note: In a code each vowel of English Alphabet is coded to the next vowel cyclically and each consonant

is caded to the next third consonant cyclically. Thatis, A—E, E—], ...., U—Aand B>F, G=K, S—M,-_
ceey X3B, Y-5C, ZD. The reverse process is used for decoding. Using this code and :

processes, answer questions 85 to 89. )
/eSS 2.8 §°ES° woif wgssres® 58 BN ST D Sdavore S°E 3, 158 epSr TP Entﬂ,
53 Do’ Sreptd S8 chore 888 Johol. ®ol, A—E,E, ..., U>A; $0a50 B-F, G-K, 5N,
...... X—=B, Y-C, Z-D. & 86%%8 $5¢8e® 4-8%8oR Sooodod. & §'@oR, &-5%d
égqﬁw;ﬁ)a’:a:vhoﬁ 85 0ok 89 S8 Ko (BHoo amradin. .
85. Thecodeword forBLOCKis: F PV
BLOCK 8 &°8 &S0 : Nz B
(1)  FPIGN () FPONG (3) FPEGN /“f FPUGN |
86. Thecode word for ARMY is: eV '
ARMY 8 &°€ $to : 3
1)) VQCE (2 QCev ﬁ) EVQC @ VECQ bk
87. Theword codedas HIPLOis: g/g :
HIPLO re 86 Scbedis $io : y |
(1) KOREA 2" DELHI () PATNA (4) KOCHI
—_—
88. Thecode word for JNTUH is:
8 8°E S0 :
) MRXAL @ MRXEL @) PIXEL @ TAXES
e —
\ 1
P-T 16-D |
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89. Thewordcodedas VIH is:
VIH re %8 Scoms $do -
(1) ROD RED (3) SET (4 SUN
. - ___---—‘_‘--\-—_
90. Ifthe following equilateral triangle js -
p yar reflected about the angular bisector of C and then rotated through an
?;‘ cl::v}sz'oc about its centroid in the anti.:]:ckwise directigll:, then the resulting triangle will appear as
808 Hers @lﬁ:@&hcx}g 8 KBuwors B Home SorSESo SoBod e T Sograro Ho
©53850¥6° 120° 8508° $0ig55omo B3 53) Bghmo (80b forr $okwod
A ;
B C
C A A B
» » ® A o A
B A C B B C C A
91. A meaningful arrangement of the following is :
(@) rational numbers (b) integers
(6 realnumbers (d) natural numbers
(Bod T8 2.8 e850EDS elds
(@) @55 Soggen () Ggosen
(© o35 Soggen (d) SSea Soggen
Choose the correct answe:é;fr/b@:ﬁ aTrad JobE Dabod :
® @ (. 0)(d) (d), (b), (@), () @) () ®).() (@) @ @) ()
92. If R (n € N) is a rectangle of length 1, =%, breadth b“=n11 , then the sum of areas of
Ry, Ry Rygg S :
1 « i, Ea -
DED 1, =%, 3oy by - ™ Ko 5%&5&6@0 R (neN)®and R,, R;‘;..-., R0 ® S&vere 3wdo :
\
% 101 100 PR 5’<
M o0 @ 700 ® 0 99 7
93.  If the following square is reflected horizontally and then vertically, the resulting figure is :
(Bob SHERY) 4B Simostore SovSERo b 6 auiupor JoBgse Sabm Hi%) SHEEe
PoT 17-D i
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W T tollowing squares of sides each 2 cm are used 10 10T A rectan gy 4 parallelopiped with base A B¢ [

L E, then its volume (inem ') is

30 €omo 27505 e Ko (Bob SEH 08" el b SOBY ABCD | | wertorn, 8ot Sdor o,
DI HOIPEo (o.M Y eed) -

S

M 8 @ 16 . @) 6

The following table gives heat index h = h (T, H) in terms of temperature T* F and humidity H%. Observe the
table and answer the questions 95 and 96.

oS T°F, 3% H% o6 agovdo h=h (T, H) D (od 348 &r0fod. IQED ADI00 95, % Fdob
wrmw ol

H ;
50 60 70 BO 90

90 96 100 106 112 119

94 104 111 118 127 137

98 114 123 133 144 157

100 119 124 141 154 168

95.  When the temperature is 98°F, the average rate of change in humidity is :
AR/AS 98°F rm APYPED, B 6° Jiew EntigyBen :
(mn 14 @ 150 ;a( 1.075 @ 175

96, Whenhumidityiswi.thetvengenteofchnngeinbmpenmis:
8 80% m QYYD SRPNSS® Srew SrcipBen -
m 4 @ 42 .4{) 43 @ 44

P-T 18-D
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f\ suwey.conducted ©On 100 students with regard to their sports activity revealed the following

information: l;wry student wh, participated in the survey plays atleast one of the three games

Football (F), Cricket (C) ang Volleyball (V) ; 20 play only F;30 play only C; 25 play only V while 5

play all the th{ee. Moreover, § play both Fand V but not C. The number of students who play both

F "f‘d c 0“'_)’ 1$ same as the number of students who play both C and V only.

Using this information answer the questions from 97 to 100.

[eSS Lo Jonofod 100 Sod QB.SQUE 2B éﬁs 808 $SPToR ;3.);50 %08 : ﬁﬁsﬁs 3‘5:25‘_1
(X8 3)(:"3% Srlode® Ko Nt 2% wid slad. © Hlerd (F), (838 (C) SHbokn >berd (V).

20 %08 F D Sr@d 6toes; 30 $i08 0 Srdh etoa; 25 508 V 2 SrEd emed, s

5t Srdodd ebard, ®ods, C ) oo Fbdkn Vol etath 8508, F, Ces Bolo8d

SrEd o Qg [ogy 5 C, V en Bolodd Erdd el oo Sopsd S&mS0.

& JErToRY aSErAD 808 97 ol 100 S8 Ko BHed e asges.

Note:

97.  The number of students who play atleast two of the three games is :
St wed 800 Bo8oBR 2 e 0w -
% :

1 22 @ 23 @ 24 @ 25
98. The number of students who play Cis:

CR &3 drmgde Sowy :

1) 45 (2{ 46 @) 47 4) 48

99. Inall how many students play V ?
Ao DS dod Lood z)a??eo VI edHed ?
) 44

1 42 @) 46 @ 40

100. The number of students who play Fand C butnot Vis:
F, Cod ethdr VI eid (3);4563& dogy
)

(1my 3 4 B 5 @ 6
101. Match the following :
List-I List-1I
(a) Mycology (i)  study of pollen grains
(b)  Palynology = (i) study of treatment of tumours
()  Oncology ~ (iii)  study of fossils of animals and plants
(d) Paleontology (iv) study of fungi
238580 :
o -1 o -1
@) Dod () ook Tewde oggebiso
b Doved (i) S%K6 8 VowohodIB
(0 wosed (i) Berere 180D egsadso
d) Hodirotred (iv) B0olgre 180D ergahivo

The correct match is/ 58 WOGES &80 . _
(1) (ﬂ) . (lll), {b) - (u)' (C) ) (])’ (d) - (l\') (2) (a) = (ll), (b) = (l.ll), (C} = {iV), (d) & (I)
m/ (a) 3 (i\f), (b) ~ (i], (C) ¥ (I.I), (d) - (ii.l) (4) (a) - (l)’ (b) = (ii), (C) 3 (iv); (d) - (l.ll)

oy 19-D
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Match the following :

List-1 List - II

(Plant) (Edible Part)
(a) Potato (i)  Swollen thalamus
() (i) Vegetativebud
© Apple /’ (i) Modified root
(d)  Cabbage (iv) Modified stem
& 800 DD 2ESLHSD |

efar - | edoe -1

(S5 (B3@rr{RS Frrio)
@@ =orreesos () afd HaHIIE
b) oS (i) oHad I
OIS (i) GrIrosbo J083 IB
@ =3 (v) Brdrodbo 308 SPoko

The correct match is/=8 $8&S &£°03 :
41’)/ (@) - (iv), (b) - (iii), (c) - (i), (d) - (ii) @ (a)- (i), (b)- (i), () - (). (d) - (iv)
G (@-(), (d)- (). (c)- (iv), (d) - (iii) @ (a)- (@), (b)-(iv), (c) - (i), (d) - (i)

103.

Aqua regia also known as royal water or king’s water which can dissolve noble metals gold and plati
is a mixture of :

(a) Hydrochloric acid (b)  Nitric acid
Hydro bromic acid (d)  Sulphuric acid
The correct answer is :
(1) (a) (b)and(d) (2 (aand(b) (3) () (c)and(d) 4 (). (b)and(c)

porrSEn 8 FBIHOH S8hosKe TS b So 8off) T Devded essx Oddd
{FSoo :

@ ES%08 expiw b) 3OS esiso
@ TEWDE oo @  SeompS e
FOFS SEPEHID :
(1) (a),(b)DOam(d) () (a)HBAi (b) @) (@) (QDB(d) @) (a) (b)SBaD) |
104. Household refrigerators work on the principle : j
(1) , Peltiereffect (2)  Seebeckeffect
Joule Thomson effect 4)  Photo electric effect
S0£6°0 BDECLE SIS dborD Ke Sgo -
(1) Pavs oo @ 538 3080 |
@) &S oSS Hosin (4)  so08 g $00 ;
— e
|
P-T 20-D ;
i
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105. Heparin is an anticoagulant found in blgg and it prevents blood clotting within blood vessels and it is
preduced mainly from

)  Kidney (@) Pancreas (3}/ Liver (4)  Spleen
T30S $Eos” ot &8 (HBR)oES Sorgiso. 20 852 BET oS’ LSS Hooe aotbé® B eEst.
a8 Soggore & $ol SE[0K |
1) HHso @ Soonw (B) sdabo @) S
106. Identify the correct statement :

)  Theresistance of a metallic conductor depends on the potential difference across the conductor.
(2)  The resistance of a metallic conductor depends upon the direction of the current in the conductor.
(3)  Theresistance of a metallic conductor depends on the length of the conductor.

(4)  Theresistance of a metallic conductor is independent of the temperature of the conductor.

Bod TeBS® OGS T5asd ool

(1) o8 EFH FES ) Wkn e oty HF) PLYHS oo P BERESE Hool.

@ o8 FFH THES Cof) VG st (580D DS D 6F P GFRESE Hokod.
(B) o8 & LI Tof) A o) UG SEESE Hotnod.

@) 28 SFrH LS k) E%Ew PSP STBBE HoL.

107. Match the following:

List-1 List-1I
(@ Glucose (i)  Polysaccharide with Nitrogen-containing carbohydrates
(b) Starch (i)  Monosaccharides
(c) Maltose (iii) Polysaccharides
(d) Chittin (iv) Disaccharides
23808003 ¢
=oAL L | &dar - 11
(@) rxs*E () BS*=S L0n ad) FOFLDE =6)TFEH)
b *H (i) FrFFEBE)
© &g (i) OIFLDE)
@ 288 (v) B¥EBE)

The correct match is/ 28 J0GS &80 :
(@)- (@), (b)- (i), (©)- (V) (@)-() @ (@)-(i), (b)- i), () - i), () - )
B)  (a)-(ii), (b) - (ii), (c) - (iv), (d) - (D) @ (@) (i), (b)- (v), (c) - (iii), (d) - (i)
108. Identify the correct statements : T
(a) Late blight of Potato disease was the causative factor for the ‘Great Irish Famine’ of 19t century.
(b)  Brownspot disease of rice was responsible for Bengal famine of 1940's.
(©  Theinserted foreign gene in Bt cotton offer resistance to bacterial diseases.
(d) Crown gallis a viral disease.
SODS agage oSl
(@ 195 dovgy ‘B 0] 85D’ © SP569 D) DOMPERSHOHK S B B 5 0.
(b) 56 Ao Borb Soigy 06, 1940 5F80E° S5 Borrs Kt seeo.
(© BB SIEDHS edgudyd (foreign gene) erfBchS rgrheol B SODR0B.
d) ESrd oo o8 38T 6.
The correct statements are /380w TFZATED
) @ @ 0.0 £ (@) @ .

P-T 21-D
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109.  Which is correct in the following ?
Inan electric circuit -
(1) Ammeterin parallel and Voltmeter in series aré connected.
()  Ammeter in series and Voltmeter in parallel are connected.
(3)  Ammeter and Voltmeter both are connected in series when the voltage is small.
{4{ Ammeter and Voltmeter both are connected in parallel when the voltage is very large-
& 8od S DB BOGHSE ?

2.5 Dxgtiochisng® -

(1) oyt Sirostorr, Sayibib FH6%DH 50D Jotron,

@ odpps @FE6%, S SErosiord $0b Joerav.

@) 'Y ST aHpe edynt, Sy Sotr F86° 50D Hotro.

(@) P8 crer S &P ey, Sexdbot Bokr Sirodtorr S0 Hoerav.

110. Identify the correct statements from the following :
(@) CFCs are responsible for depletion of Ozone layer.~
(b)  Water vapour, methane, COE, CFCs, nitrous oxide are'green house gases.v~
() TheBOD value of pure water is 100 ppm.

808 B SBGE DSBHOH HHODHD.

(@) &&°S D8 SKrvtes CFCen s

(b) B DB, MBS, CO, CFCen, IR sB)E ev (AS F°H cimwIe.

€ &G 5& BOD densd 100 ppm.

The correct statements are/ & [SSSro6® DD [OGID ?

1) (a)(b) @ (@) 3 @ b)) 4) () (c)

111. Which one of the following combinations are appropriate ?
(a)  Barley, rice, oats, jowar
(b)  Flax seeds, almonds, cashewnuts, walnuts
()  Flaxseeds, oats, corn, ragi
(d)  Oats, corn, ragi, jowar
) @md® @ GEmdd@ @ @O @  (Qand()
& (BoBTIE" DB VDS HalySo ?
(a) erf, 38, LtSen, €)
(b) ®ddew (Flax), erdo, AAISp, E:565en
() e (Flax), &5, IoHES), oon
(d) L&, IHER), oA, &)

(1) (a)0a(b) ) (b),(c) >Bas» (d) () (a) (b)baw(d) (4) (c) SoBcd (d)
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112, Match the following :

List-1 List-11
(@)  Aspirine . (i) Cyclotrimethylene trinitramine
(b)  Muriatic acid (i) Acetyl salicylic acid
(c)  Ibuprofen (i) Hyd;-ochloric acid
(d RDX (iv) Aryl methyl acetic acid
33 DHBHRW ¢

eloe -1 erdoe- 11
(@) ©NOS ) 80308 (BILDS
L)  Ss0aseBE sspo ()  ARBS FPSHOE o
© cer@®S (i) 3rEEOS wspo
(d) RDX (iv)  «BS DFS IVAE wfpo

The correct match is/ a8 $0&S &%80%) :

(1) (@)-(iv), (b) - (i), (c) - (ii), (d) - (i) 2 (a)-(iv), (b)- (i), (c) - (iii), (d) - (i)
‘(3)’ () - (i), (b) - (iii), (c) - (iv), (d) - (i) @) (a)- (i), (b)- (i), (¢) - (i), (d) - (iv)

113.  Which of the following are energy giving molecules ?
(¥  Carbohydrate, Protein and Lipid
(2)  Carbohydrate, Lipid and Vitamin
(3) Carbohydrate, Protein and Vitamin
(4)  Protein, Lipid and Vitamin
& BoBarAE° €80 5D) LenHOH HBoSS
(1) sEYREES, DPES Sobckn OBE
2 sBNTEES, OBE S8 DS
(B) sEYTES, (DB H0cin DS
) (S, OBE HBAD DOWS

114. Match the following :
List-1 List-1I
(@)  Chernobyl disaster (i)  Peroxyacetylnitrate
Chlorofluoro carbons

(b)  Bhopal tragedy (ii)
() Ozonehole (iii) Radioactive substances
(d)  Photochemical smog iv) MethylIsocyanate

& (800 a0 2N !

e -1 adoe-11
(@ 36HBS D58 () DrYedDS JBS
b) &S o M) 5P sgSen
© &&°S Sogo (i) OEBrErEE dorgren

(@)  SoBEIabS AW (iv) oS oIS

The correct match is/ab J0gaS &880 :

(1) (@)-(iv), (b) - (i), (c) - (i), (d) - (i1) @ (a)- (i), (b)- (v), (©) - (ii), (d) - (i)
@) (@)= (i), (b) - (i), (c) - (iv), (d) - (iid) @ (@) (i) (b)- (iv), (©) - (i), () - (i)
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115. Read the following statements :
(@)  The biochemical events in the ‘Dark Reaction’ of Photosynthesis occurs in the absence of light.
(b)  Theloss of water from plants in vapour formis f eferred to as ‘transpiration’.
() Consumption of transgenic ‘Golden Rice’ prevents development of blindness.
The correct statement /s is/are :
(1) (a)iscorrect but (b) and (c) are wrong
(2)  (a)and (c)are correct but (b) is wrong
(b) and (c) are correct but (a) is wrong
(4)  All(a), (b), (c) are correct
& (Bob (BSSoreok ogsohdo Babod :
(@) S8maly SoFrK(EHetd AANo8 SC W0ED ASEIANS Fodw 5208855
aborbacow.
() ©dBErHoE® Inge ol A FehHe TR0’ sotrt.
(€ X000 FPES BY & 8o Sg Loy AB)HE ITBoBwHob.
& (HSSToE® DB/DD VOISR :
(1)  (a) NSOGB s°R (b) SO (c) SOTHHD S°H
@) (a) S8 (<) SOGID 52D (b) SOGKE S
()  (b) 5B () SBALID 50 (a) SOTPRG S
@) (a), (b), (c) ® JB@BD
116. Examine the following statements about ‘Indian Science Congress' :
(a)  The 104" session of the Indian Science Congress was held at Manipur University.
(b)  The theme of the Indian Science Congress, 2018 was ‘Reaching the Unreached Through Science and
Technology’.
(©) Indian Science Congress, 2018 was held during March 16-20, 2018.
Choose the correct answer :
(1)  (a)and (b)only @  (b)and(c)only
@/ (a)and (c)only 4 (a) (b)and(c)
‘P68 S SPofiT & H00B0DE 808 eores $88D0S08
@) &r8E 28) Soft @) 1045 VRS SoBdeE :)‘a’samvéacﬁ:oéﬁ 2BA08.
b) ‘®oSSEH I Faed / (Fosro 2N) S8aw Bsvpd oxoe JBES’ ©F 355550 (60)8° gruss
28) s°o@k, 2018 JErSacen 236ma,
(© &°88 PR) 0N, 2018 DHS &r8) 16-20, 2018 see0d® OB
$OFod aareid JodE Sabod :
(1) (a) S0 (b) Sr@D @ (b)SBds (c) SrED
@)  (a) SO (c) Sr@D 4 (), (b) B (0)
P-T 24-D
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117. Match the following :

@
(b)
©
()

Institution/ Council/ Commiggjqy,

Director General of Indian Council of World Affairs
Chairman-cum-Managing Director of NALCO

Chairman of Payments Councij] of India

Chairman of National Commission for the Protection

of Child Rights

208 A adi5So4

(@)
(b)
©
()

B0/ TS/ SWES

208aHS NS ©H 388 08 EBEE wdvs

T BYS-85H-HIRoR Fogs
Do) TYS 6 B0l FGS

JLS EAS HB 6 TBES oF 38 365 © BYS

Officer Name
(i)  Vishwas Patel
(i) Tapan Kumar Chand
(i) T.C.A.Raghavan
(iv) ShrimatPandey

(v)  Stuti Narain Kacker

®HsD D
() Q=R 585
(ii) S58 HEeE S06
(i) B.2.9. HSS
(iv) &8 ot
V) 8 ToechB 856

Choose the correct pairs/answers/ S8GS adeiH / aaranid Jods Bakod :

(1) (@), (b)=(i), (c)-@), (d)-(v) @ @-v), (b)), (c)-(iv), (d)-(iii)
@) (@Hiv), (b)(iii), ()-(1), (d)-(ii) @ (a)(i), (b)-(3), (c)-(ii), (d)-(v)
118. Match the following :
Central Government Scheme Launched in month, year
(a) National Rurban Mission (i) April 2016
(b) Pradhan Mantri Fasal Bima Yojana (i) February 2016
() Pradhan Mantri Jeevan Jyothi Bima Yojana (iii)  July 2015
(d Pradhan Mantri Kaushal Vikas Yojana (iv) May 2015
808 B assBS0s ! .
S0l (Hgody Bso woosnds e, Hon
(@ TS BK)S wAS @) DS 2016
b) (B Hoo® HIS Dse Boeasd (i) 36 2016
© oS Do 4585 &8 Hir Ered (i) es~B 2015
d) (BN Ho® THS Do Brad (v) 2015

Choose the correct answer// pairs/ S0gn% esae0iD / 280 Jods Fabod :

@)

(@) - (i), (b) - (i), (c) - (iv), (d) - (i) @
(a)- (i), (b) - i), (c) - (iv), (d) - () @)

(@)~ (iv), (b)- (i), (c) - (i), (d) - (i)
(@) - (i), (b) - (1), (c) - (i), (d) - (i)
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119.  Examine the following statements about Para-Athletics games :
(@  Deepa Malik won a gold medal in the F 53/54 CA1€80Ty Javelin event at the World Para -Athletics
Grand Pix held in Dubai in 2018.
(b)  With this win, Deepa Malik became the world number one ranker in the F - 53 Javelin category.
(©) 2018 Asian Para-Games are scheduled to be held in India in October 2018.
Choose the correct answer :
(D (b)and (c) only () (@)and (c)only
(a) only @4) (b)only
Po-0BBE) 1K) %8005 80b womed 30800508 :
(2) 2018 &° therond® wbAS (W0 ov-0phS) (Tof BE) ewd® F53/5480N0 3OO &30656°
B S0 Ky HESY) FH0D08.
b) & DecHo8® B SeOE F- 530S Deriiod® B50s Sowb 5§ (1) oo FHoDoB.
© 2018 6daHS For-Af) 6eb 2018 6° FESEISE atibercy.
DOGS a3TreN JoDE IaHod :
(1) (b) 0B (c) SrEad 2) (a) DB (c) Srad
@) (a)dmSD @  (b)SrESDH
120.

The Supreme Court on June 5, 2018 allowed the Indian Government to implement the reservation in

promotion policy of SC/ST employees in accordance with the law. What is not considered in the judgement
of the Supreme Court from the following :

(@)  The policy must be in accordance with law.
(b)  Thejudgement says that the state should make out a case based on quantifiable data.

(c)  Thereservation should not be looked into based on the data like backwardness and overall efficiency.
(d) Comply with Article 16 of Constitution of India.
Choose the correct answer :

(1) (@) (b),(c)only .(a( (b), (c), (d) only
() (g)only @)  (b),(d)only

SL05% @ordronT (HEeS Tgabirdo @8 5, 2018 863 6" HHe DLH0S® Er 5.2, /058, BaiBKS
DGRy ©0enTEHETIE ©XHB0N0E. 808 DHdTeS® DB/ BES TSR0 S Brinys® B8 ?

@ (©80ds derso Sybars Howrd.,
b) & A& (BBo JOIPFHE SEr0d0 (er) wErsorT oo 8RS Agabo 8xstad,

(© BoSarendSo, Ingo o SoB Saodo (Grer) sERsorT BaBEE SRS BOaHEDE
(d) 58 TrargoiD BRES 165 SHVB™ wikEBoTd.

[O@S aaranid JodE Jabod
M (@), b) (&SD @ (b)) (d)SeEsD
() (OSmSD @ () (d)ESD
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121.  India’s rank in the ‘Global Environment performance Index’, 2018 was 177 among 180 nations, Identify
correct statements in this regard
(@) Itwasreleased by ‘Down tq Earth’ Magazine.
(b)  Itwascompiled by ‘State of Ingja’s Environment’ 2018.
(€)  ‘StateofIndia’s Environment coyers diverse subjects from air pollution to environmental crimes.
(d)  Thetop five countries of index in terms of green rankings are Switzerland, France, Denmark, Malta
and Sweden.
Choose the correct answer :
M DOOW@ @ @oemy @ OO0y & @l
oS ITIDS DOYYT) 202§ 201868 180 Brws® erESEEH ToS 177 e HBorE. £
RoLoRODY VOEN DHIBeeH HB0SA
(@) & A0 TR & &3S (‘Down to Earth’ Magazine) De 3%086.
®) B RS &F 3080TT NSRS 2018 HoswSo F0E.
© O 85 28R IR Dotn’ I8 womed, MO sreke Mol JogEsn BH S8 P
ool H040%08.
@ & &rDS° IO wantd Prdd woll (AS ooloh SPobd Baven D508 BTof, (F°F), E35rE),
S, DS,
HOTDS esarenid DodE TBahod :
M @OE@d @ @b OIED @) O @dED @ () (d)IEDH
122. Examine the following statements related to national integration :
(@) Preamble begins with ‘We the people of India’.
(b)  Directive principles of Indian Constitution direct the states to take steps towards bringing equality,
justice, liberty to all.
Choose the correct answer :
(1)  Both (a)and (b) are correct (2)  Both(a)and (b) are incorrect .
( Only (a) is correct (9  Only (b)is correct
2PBADH SSHSL Howododd Sob worOd H08DoNoA
@) Sbo grBsdE (Havosso’ 8 erds Terson (B388 (Do) AnBeHEod.
(b)  &rE8 overorid NG8Y (sBEE) SrEred wotsd8 BEmSEo, Fabo, gy E0B AU SHgL
808 el TSP 83 BJvow. ' '
FOEN wTrendd JodE Savol :
(1) (a) SBdw (b)Bokr HOBND (@) (a) 3Bk (b)Bolr IO s°
@) (a) s $6@SH @) (b)SrED SOGHA
P-T 27-D
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123.  Examine the following statements :

(@)  Governor's rule has been imposed in Jammu and Kashmir in the third week of June 2018.

()  B.V.R.Subrahmanyam was appointed as the Governor of Jammu and Kashmir.

(©)  The Director General of Police of Jammu and Kashmir isSP. Vajq,

Choose the correct answer :

(1)  (a)and (b)only 2 (b)and(c)only

(3)  (a)and(c)only @~ (a),(b)and (¢)

808 worrod H68DoSos :

(a) edoy-soB)F & KSGE eSS 20182~8 Lrdd E06° Dgozete.

(b)  esom-s8)B KSGE B.V.R. jpege Aahotarrd.

(© wsoy-sB5 ovapR8 SP. 35 056 xxoS 6l 0T m s,

DOGHS aarenn JodhE Tahol

(1) () SoBasm (b) L& (2 (b)S0cko (c) S

@)  (a) 0B () Em(@ad 4)  (a), (b)sbbaiv (c)
124.

Which of the following statement/s is/are not correct as per the ‘Andhra Pradesh Reorganisation Bill -
2014" ?

Polavaram Irrigation Project to be a National Project.

(b) Hyderabad to be the common capital for Telangana and Andhra Pradesh states for a period of ten
years.

(c)  Governor to be common governor for both the states.
(d) Common High Court for both the states for a period of one year.

Choose the correct answer :

(1)  (a) and (b) only (2 (b)and (c)only

(3)  (c)and(d)only @ (d)only

‘WoHBE HIB S8 SQo 2014’ (B0 & Bod EBBISVOE DB/ FBewIB/D T ?
(a) Dot FHVG HBLS ebad (FBGe SOKATE.

(b) weolf, 8vomrs al colpeds rEoverd: &Syl CREAM™ I8 JodIore S6KH
aotnob.

(€ Botd riEPeb e KSGG dotrt,
(@ o8 J058)5H sew0 o Bod TPl B0 asys FER sotod.

SO0 araid JodE Savod
(1) () S0 (b) &r@d @) (b)oBad () SMED
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d the final extension of tenure of the Commission constituted to
within OBCs in the central list. Identify from the following what is

In June 2018, the Union Cabinet approve
examine the issue of Sub-categorization
not correct in this regard :

(@) The Commission is headed by G. Rohini.
(b)  The date was extended upto 375t July, 2018.
() TheCommission Was constituted under Article 340 of the Indian Constitution.

(d)  The Commission was supposed to give its report originally by 20t May, 2018.
Choose the correct answer :

M @OO@ @ @6.Cuy @ @@y @ (@only

=5 2018, &° S0 HOBHOLD £.8.8. $5-werrgiS & SowoBod Domen T EWAS (S0g) ey
SOBBLBY DIZOFD TENOHKS siHBoDos, £D8 HSowoGoD BOMD HEPGREoR HGOSOA :

(a) & $ES 2 & sixtiost i,
(b) & EWET SPD0WB 31 a7, 2018 S5 FBACTE.

(©  ar8S orargoro® eBES 340 8o & 58S L55%8005waB.
(d) & SRS S OV D 20, 20185 wFed S0B0G.
S0 aarad JodE TaHod

1) (a)®), () (d) @ @b, (&SED @) (a),b)ErESD @) (d)SeED

126.

Which of the following statements are correct about GST ?

(@)  GSTis to be collected at point of Sale.

(b)  GST abolishes all direct taxes levied in Indiage

()  Implementation of GST was started on 1% July, 2017.

Choose the correct answer :

(1)  (a)and (b) only (2)  (a)and(c)only
(})/ (b) and (c) only @ () (b)and(c)
GST & S020509% 808 BS° $B3D 2D ?

() GSTJ esyso =67 (HBI06* Siren TR

(b)  GSTgrss3506%0 o) (B Ssgem 8 Tkod.

© GSTa»81,2017 $08 w8 5Q)08.

FOEDN 225reniH doDE IdHod :

(1) () &dasy (b) S (2)  (a)&Bcio (c) S
@) (b)oa()SHED @)  (a), (b) %05 (c)
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127, Based on the Indian Air Force (IAF) order in [?"f‘t‘;nh' 2016, the Supreme Court uphe_ld the order on
banning the beard to Air Force personnel. [dentify the correct statements from u.te followlmg :
@  Article 33 of Indian Constitution gives the authority to Government of India to restrict Fundamen;,
Rights 1 . -
(b) Thght‘ﬁt:rl:;:c‘::tn: i:::othmg to do with religious sentiments.
(€©)  OnelAF personnel appealed to the Suprem® (.:mm onthe matter.
(d)  Supreme Court upheld the order of LAF bannung the beard to IAF personnel.
Choose the correct answer :
1 @ o..q e 0.0 @
(a), (b) only @) (©.(d) only
E20eb 2016 &6 g5 (HES THEOLI0 I 85)6° eros anag ot rbIDY ’:5 a8i%
$EQ0D0B. & ety Esbo oS JErE BE0S° ST degyod KL DOSTED. 68 Jomodons
BOBS o (DSBme) JobE Scod :
(@) erss U‘E‘"a‘oﬁoﬁea 33 % ggéﬁ oo e @@5‘5&}5 é&ﬂr&)é Bod® 3930 =0 Ajdbost
OSIES Gollo FEDE e DaboS” SAS DooKes DGoIHSY
b) & dposted HESEIS DeRrI8 Jowodo 8.
© B0 DRcHD o8 g8 FE0S B Deod BB Be gabPaRs Doy SO,
@ 83 Bos amabyso, FEE B5rE B¢ efhsthon aQ)d KESNDH DOITER) SR
ééngo{)o&.
SOTS marmdn JobE Jabod :
M @ b)), @ (b) (). (d) S
@) () b)SHED @ (o) (d) S
128. Examine the following statements about 2018 Wimbledon (women’s singles) tennis tournament :
(@) 2018 women's singles Wimbledon tennis tournament was won by Angelique Kerber.
(b)  She defeated 36 years old Serena Williams by 64, 6-3.
(6  The 2018 winner, Kerber, a 30 year old German, was 11" seeded at the start of the tournament.
(d) This is her first Wimbledon title and third Grand Slam including Australian open and US open in
2016.
Choose the correct answer :
(1)  (a),(b)and (c)only (@ (a)and(d)only
(a), (c) and (d) only @  (b).(c)and (d)only
2018 Domes (e dohd) BYS S*GBolp S0b ISEHeD (sowre) 56800508 :
(@ 2018 H2rte HoNG) DomeS BYS S°G6)ot5SH JoadS BHF AurHHod.
b) 363058Tre V0T DODRYD 64, 6-3 BeeS® 3G)6 L8000,
(© 2018 Doz Hree DB, 30 SoSEmyore ayS eows 3GF & SGoS sbogod® 11 S HEm
aolob.
d =0 eH ILINGE JoweS BAS 2O 2016 6° FPGODI BRI LS, 0.6, L5 &
SenHEol HrEsS ol PH eHHod.
OGS araxd Job¥ Sabol :
1) (a), (b) 5B (c) S @) (a)Bdsm (d) SnesH
@) (a) (c)SDBaim (d) S @) (b),(c) 5008 (d) S
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Author

(a)  Sourav Ganguly A A B'wk T:le
(b)  Shashi Tharoor ) A;::n :;dm Enough v
; of Freedom
()  Sanjaya Baru )
(d) AmartyaSen mmdmpﬁmehﬁmster:me Making ......... v
Choose the correct pairs / answer . The Idea of Justice

A (@), (b)and (c) oy

() (a).(c)and (d) only (2  (b).(c)and (d) only

)  (a).(b)and (d)only

808 wdoid 38800508 -
SSand X
2380 B (woffod’)
(a) P63 Koo 3 2o
NOS0 &f =45 D55
{b} ﬂﬂm = afgﬁa@@éo
(€ Rozdd 2% "

) ol 35 - & olat oS =85

1) (a), (b) & (o) SHSD @ () ()58 (d) 2D
B) () ()50 (d)Z=g @ (a),(b) b (d)SmsD

glo ?e Swac:thS;nfelﬁshan 2018 rankings announced by the Ministry of Housing and Urban Affairs,
‘ernment of India; in the category of over one lakh population, Greater Hyderabad, Warangal and
Karimnagar secured the following rankings - t ¥

(1) 22,49 and 76, respectively 2 27,31and 73, respectively
(3) 38,47 and 85, respectively (4)  27,38and 77, respectively
1 SR e IgSFro 0B T, 08 (46507 (BSBoSES ) SHEE 2018 oyo8of)st
Mw,mmﬁaﬂﬁmwogmmsmwﬁoém@m
SiPyom ?
(1) Sdre 22,49 S8dm 76 @ Sadre 27,3150a 73
B) Db 38, 47 20k 85 (@) S50re 27,38 58k 77
131. Which instrument was produced by blending Indian Veena and Iranian Tambura ?
(1)  Guitar (2 Violin #  Sitar (4)  Mandolin
N&&abmmg?msmmm&émaoxﬁ;ﬁﬂ?
(1) A6 @ 53005 3 »eb @) Sweol™ds
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132 Assertion(A):  The British East India Compary was established in England to have trade relations
with India.

Reason (R): The balance of trade with Englﬂ“d was always favourable to India.
Choose the correct answer
(1)  Both (A)and (R) are true and (R) is the correct explanation of (a),
@  Both (A)and (R) are true but (R) is not the correct €xPlanation of (4
(A) is true but (R) is false.
(4)  (A)is false but (R) is true.
(BB S (A): grSEBE08® argRrto Eyel-d aoﬁow L &) molaire S8 Josnw %bm'
SEesn(R):  mopot 88 myEin HYEr U8 BERS ovgdam SSIND.
R[OS aarand Jod Babod :
(1) (A)S0Bcko (R) oo Desiso (R), (A) £ KO De3.
@) (A) B0 (R)Boto Desiin 5o (R), (A) £ HOFR e st
3)  (A)dew, = (R) 33,
4)  (A) 8, =0 (R) desiso,

———

133.  Who among the famous industrialists served as Treasurer of Indian National Congress for many years ?

(1) GD.Birla () JamanlalBajj (¥ JRD.Tata (@) W.Hirachand
808 (Sdop FOENETEost B rd erBah SRS o swo i Sehsemr
S0EG ?

1) 2.8 dxp @ efrSedowd () Bebl ier @) Eap Sroesod

134. Arrange the following Chinese Buddhist travelers to India in their chronological order :

(a) Hieun Tsang () WangHieuen Tse
(© Itsing (d Fahien

& B0b B TG GBSV s08csr DS SPorEonT ety :
(@ SoaseS Aoh (b) PR S D

© =80k (d) PP

Choose the correct answer /S0@ha aaranid QODE :
p’{ (@), (), (), (d) @ (@ b)) @ (d).(a), (b), () @  (®)(d).@)()

135. Give the chronological sequence of the following dynasﬁ&s of the Delhi Sultanate :

(@) Tughlugs () Slaves - (©  Khiljis
(d Lodis (€ Sayyeds -

Bo& Ko &5 Herde So¥ (S0 Beg)dn :

@ & b o8 Sodgen () e
d &8 Derom (€ ddkigthen

Choose the correct answer /SB&0% aimrendy Job¥ Badod :
1  ©@0b.ed @ @©0b).de@e 6 @ @), (). (d).(e) & ().(0).(a) (e). (d)
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136. The army thatSubhas Chandra Boge established during the independence movement was:

Revolutionary Peoples Army @) YoungIndia Army
(4) IndianNational Army

&0 ryoldy S8 HDADE’ Sepgy 505 g5 FHODT PR

(3)  Progressive Peoples Army

1) aétﬁ‘éﬁﬁé gliﬁ)ﬁg &35& o P . 96&
@ @vnsbed Q) 4) =080S IS5 6by
B =T
137. Match the following :
Mahajanapadas Capitals
@) Magadha L ®  Manishmat
() Kosala ()  Girivraja
€ Al (iii) Sravasti
(d) 'Vatsa (iv) Kausambi
808 A aSH5SI :
Sofedmee Sopgites
(a) e () Sety
b e (i) ABEe
() @308 ' (i) (25D
@ 3% | (v) Saod
Choose the correct answer /350G aaroi® Jod Bavol :
1) (@), (b)), ©-) (@) @ (@), ), (©-Gv). (d)-Gi)
13?/ (a)-(i), (b)-(iv), (c)-(iii), (d)-() @ @-(iv), (b)-(i), (c)-(i), (d)-(iii)
138. Which of the kings in Indian history and the works authored by them is correctly matched ?
(1) Krishnadeva Raya - Samarangana Sutradhara
(2 MahendraVerma - Mattavilasa Prahasana I
}3{ Bhojadeva - Manasollasa
(4) Someswara . Amuktamalyada
BotS Bensphs traven, o0 (Fabols E5508° SOy aSBEIBAIL 26 7
(1) gdsoaden . %doorolfe ArEeRd
2 Heos 36 i BHEDer BIFHS
@) &= ds . BedREeEd
@ g . wdmgire
P-T 33-D
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139, Which one of the following codes was not presc ribed by Ashoka in hjs rock edicts ?

(1)  Obedience to parents, teachers and elders:

()  Abstention from killing of living beings.

el Accumulation of wealth.

(4)  Attachmentto morality.

o e 8 00 sosed’ Boiike Gorlgedy Gr00S Bk ?
(1)  SDsolen, HBREd 0D Do J A Talesv]

@) &S o grdore Hotito

@) &8s

@) 388 Do Sugpl HokKo

e

140. “Honest, but a Bolshevik and for that reason very dangerous” - who said this about
Gandhi ?
(1)  Lord Willington Q{ Lord Irwin (3) GeneralSmuts  (4) Berkinhead
wamonbitots, S0 SPERE SHY BEREEERN HB” - mopdd Hdod & (808 TBS' IS
Pg0W0 ?
1) egapofixs @ of 9058 B)  assS Q) @ BONTE
141. Match the following dynasties with the names of the prominent kmgs belonging to those dynasties :
List-1 List-1I
(@) Prathiharas () Bhimal
(b) Palas (i) Krishnal
() Rashtrakutas (iii) Mihira Bhoja
(d) Paramaras (iv) Siyakall
()  Solankis (v) Gopala
Bots Ko Trassomen ©ohE™ (HE trerol sdSsEn ;
SB -1 Std - 11
@) ©OHFG i I
®) o O
© T@srioen (i) Qo8 &
(d) arBEr (iv) oI
() Rfoolden | v) o
Choose the correct answer /3005 amrand JodE Babod :
M @), O)-v) ) (@G, (-Gv) @ @) OHY) (O (D-v), (@)-(0)
@) (a)(iii), (b)-(v), (-(v), (d)-G), (e)-G) (@)  (a)-(i) (b)(v). (€)-(V). (d)-(i), (e)-(ii)
P-T 34 -D
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142. Match the following :
List-1
(a) P:lsllavas (i) List - ]!
(®)  Cholas 7 ) g:lzzl
()  Vijayanagar (i)  Mahabalipuram
(d) Hoyasalas V) Tor
BoB B 2855w : e
fm*l 865 - 11
@) dede M os
b) e (W) By
©  DucHSKE (i) 00550
d FodHIeven () oo
Chopse the correct answer /RO earenis doby Bakod :
Gy (@), (b)), (c)-G), (d)-(Gi) e s o
‘ : ) (a)-(ii), (b)-(iv), (c)-(ii), (d)-(3)
¥R R @ (o) BHv), O, (-0
143,

It was against the British Indigo planters.
(2) Itwasagainst the money lenders,

(3) Itwasinsupportof occupancy rights for farmers.
(4)  Itwasagainst the increase of land revenue by 22% by the Bombay Government.

1928 6" @BAS 28%0 JEnyfFR8 Komoriy ) O KHBoDHED :

(1) ©& Do See BED datried SBSE.

(2 ©b SgargErdhes SB8Eor abAS.

(3) - b SHeH Senrine SoBoSTI8 adh0d.

@) B droeron (H2H850 22% &8 wREOT GoHD JBVEor ESINSE.

}Ijlzntify the incorrect statement about Bardo]j Satyagraha of 1928 :

144. Match the following :
List-1 List-II
(a) Kalhana (i) Harsha Charitha
(b)  Banabhatta (i) Panchatantra
() Kautilya >< (i) Raja Tarangini
(d)  Vishnu Sharma (iv)  Artha Sastra
(8od HY eSSBS :
SER -1 S - 11
(@) Sew % () oG S8
(b) areagfg (i) HotSsoE
© B8y (ii) ores SBONA
d ¥ (iv) of TR
Choose the correct answer /30&S aaeni JODE Sahod :
(M) (@)-(i), (b)-(i), (c)-(iv), (d)-(iii) @) @), (b)), (c)-(ii), (d)-(iii)
(@)-(ii), (b)-(i), (c)-(iv), (d)~(ii) @) (@)(id), (b)-(id), (c)-(i), (d)(iv)
P-T 35-D
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Match the following, :

List-1 List-II
(@) IbnBattutah (i) Futuh-us-Salatin
()  AlBeruni (i) Kitab-i-Hind
() Isami (i) Tughluq Namah
(d  Amir Khusrau (iv) Tabatqt-i-Nasiri
(@) Minhaj Siraj (v)  Kitab-ul-Rahle
808 A edSLDHI :

SES -1 S8 - 11
(a) = otk i) HS-oR -8
(b) oS BN (ii) Baes-a-2r08
(© o> (i) oS o
(d) ©DE wEe (v) oe%-a-SN0
(©) S Bdoes v) BedS-ad-Gp

Choose the correct answer /SO 23aredid dod¥ Bahod :
1) ()i, (o)), (0)-6), (d)-v). (©-V) @ (@), BHW), (-v). (i), (H)
B (@)-(v), o)), (o)), (d)-(ii). (€Hv) (@) (@), (b)), (-iv), (-0, (H)

146. Examine the following pairs and find out the correct answer :

(a) Babul - Thorn forests

() Neem - Evergreen forests

() Pine - Tropical forests ¥

(d) Teak - Deciduous forests v~

Choose the correct answer/ pairs :

(1)  (a)and (b)only (2) (a)and(c)only

@)  (b)and(c)only @y~ (a)and (d) only

808 asoiod SOES HErEraR) SMFSod |

@ eed - Swol viHen

b 3B - RS bTSien

© BN - agdotod et

d 8% - wforey) w8

B0 waraxd/asol JodE Jabod :

(1) (a) BB (b) SrFD @) (a) S0 (€) SHED

(B)  (b)0a () SrSd @) (a)SB0% (d)InED
147,

The states with the highest percentage of urban population in India, as per 2011 Census in descending
order:

(1)  Tamil Nadu, Maharashtra, Gujarat  (2) Tamil Nadu, Maharashtra, Punjab
(3( Maharashtra, Tamil Nadu, Gujarat  (4) Maharashtra, Tamil Nadu, Punjab
rBSBE0Ed 2011 aTer BE® (B0 BERE Syn aTer T80 Ko ooEpen, o385 ESHos® |

(1) SDFTD, Doy, Hecd @) SDETD, Doy, Do
@) Do, SDETD, oesor§ @) STy SETD, Soerd
P-T 3 -D
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Match the following, :
List-1 (Mangroove site)
(a) Karwar
(b)  Coringa
()  Pichavaram
(d)  Bhitarkanika

808 B s Y880l
erdor - 1 (58 98He ,3;;60}

List- 11 (State)
(i)  Odisha
(i)  Tamilnadu
(iiiy  Andhra Pradesh
(iv) Karnataka

5 arlor -II(U‘QO}
g; s () ead
O iySco (i) S
(d) OeeB8 (i)  woy HBE
(iv) Koo

Choose thgcorresf answ.er/pairs/;aa@;ﬁ & fad0s JoE Jabod :
G O @i i, B, (040, (00
r OH1), (i), (d)-(iv) @) (@)-(iv), ()-(ii), (O)-(i), (d)-()

149. The lake Vembanad is located i :
5 ?{?ﬁﬁr:;}::tt (2)  Coramandal coast
JoersE B65y agen : (4)  Utkal coast
() oeb bdo (@) S80S bbo
() &0o8S d%o W ans boo
o 322::;0(;5‘?): %::;?:E;ME“ along the western coastal plains of India.

al plains are more broader than the eastern coastal plai
Choose the correct answer ; P,

(I)  Both(A)and (R) are individually true and (R) is the correct explanati
Lo planation of (A).
(2) _ Both(A)and (R) are individually true but (R) is not the correct explanation of (A).

(A) is true and (R) is false.
4) (A)isfalse but(R) is true,
BOFES (A):  grEEDE S8y BY Brraredt Ber D)Ko ©rHhoS.,
=860 (R): EPOSBY D)% B8 Prrmren dxtybs BrmreLos QKNS DYBID.
JBES azreniy JoDE FHod :
(1) (A)200ak» (R) Botr 2.ay) $0a (R) 638 (A) % OGS D58
(2 (A)S0a» (R)Boir 2.) 59 (R) &36 (A) & S6&0s D566 S0k,
B)  (A)eIb 2y S8 (R) 036 83
(4  (A)e3b 8 50 (R) 076 iy

151.

The states which occupy first and second places in sugarcane production in India :
(I)  Andhra Pradesh and Maharashtra

(2) - Uttar Pradesh and Maharashtra

(35/ Maharashtra and Andhra Pradesh

(4)  Maharashtra and Uttar Pradesh

TOEDEES T AHBE® (555 DB BBk FTos® Ko Trdpes :
(1) @oFEEE Sobat SHiskorig
(@) 685538 mbaty Hoorg
B)  SFoG S8 soEHES
(1)  SForg S0k ag8HES

P-T

37-D
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152.  Match the following : _
List-1 (Doab) List- 1 (Rivers)

(M Bist ()  Raviand Chenab

(»  Bari (i) Chenabandhelum

©  Chuj (iii) Beas and Ravi

(@ Rechana (iv) BeasandSutle

800 T8 asd8Sod :

O -1 (38 wods PaSo) T - 1 (Soe)

@ 8§ (i) o2 0k S

b 8 (M) O Hba» deo

© 38 (iii) DR SO T

(d) Bom (iv) DETR bckn SZE

Choose the correct answer/ pairs/S0& aTran/a80% JodE Fdhod :

) (@), ()i, (0)-(iv), (d)-(ii) (2)  (@)-iv), (d)-G), (0)-(i), (d)-(i)

@ (@-), )i), (0)-ii), (d)-v) @) (@-v), (b)), (c)-(ii), (d)-()
153. Read the following statements:

(@)  North India receives rainfall from westerly disturbances during winter season.

(b)  North-East monsoons gives rainfall to Tamilnadu.

(¢)  Indiamostly receives rainfall from North-East monsoons.

Which of the following statements is/are correct ?

@ (a)and (b)only @  (b)and(c)only

@) (a)and(c)only @) () (b)and(c)

808 JSBROD SES0b

(@) BSerseos® S stosee Hg AEY ESBTRS SEFFSo FrK0b.

b) SE ndSdTeo SHETHD SEErEe RO,

@ erostedl Sl apbiso Sy 088 Srso ofRob.

HBEE HOIS DSBeoen DD ?

1) (a) S0 (b) S @  (b)%o0as () &mSD

@)  (a)0ai (c) D @)  (a), (b) B ()
154. Zawar mine in Udayapur is famous for:

1) Gold @ Mica (;/ Coal @)  Zinc

A5G EER ub e DBB SNY !

(1) woormdo (2) wgEo @) &% 4 S
P-T 38-D
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155. Match the following :
List -1 (Nuclear power g,

(a)  Kakrapar tion) List - I1 (State)
(b)  Rawatbhata (i) galj)asthan
0 Kai (1i) o
Ed)) Nalr%ara (i) Gujarat
808 A 2858308 - (iv) Karnataka
0o - | (o= 1as ) éOLCSa}

(@ sEs6 ; :9;; I (ov(go)
(b) DS ! e
. ) ess@38
) n;_ﬁs‘cn (i) rDae&

(iv) Somps

gh ( t}l’-\(e c)o r(rb;c(t) ( )j{;l:(';irs/ S8 2Pank/ad08 JodhE Iahod
ay-(v), ), (€)-1), (d)-(i) : . ol
iii), (b)-(i), (C)-(iv -- (2)  (a)(i), (b)-(i), (c)-(ii), (d)«
i R G @) 10, o) ) @
156. Assertion (A): ; cksoils are formegq due to weathering of basaltic rock.

Reason (R): lack soils have h; . ‘ :
Choose the correct answer : high moisture retentive capacity.

(1)  Both(A)and (R) are hd?v?duaﬂy true and (R) is the correct explanation of (A).
@) Both (A)and () areinividualy e bt () s not e corec xpranation of ()
4)  (A)is false but (R) is true.
@8FES (A): oG 800 30ego So Sedia a8 Aaron,
=50 (R): BTG grsmes 208 kg, DenE*He o Ko,
BOIS 2o JodE Fahod
% (A) 500 (R) Dot 2.5 Bt (R) e (A) % 38F% DS58e.
) (A)S0Bain (R) Dot 2.) 5 (R) @3B (A) 566 D8 s,
0  (A)sBe asy Soa (R)edb sy N
@ (A)eld 83 =D (R)eds &)

157. Assertion (A): Pune, which is located near Mumbai receives Jess rainfall as compared to Mumbai

Reason (R): Pune is located in the leeward side of w
; estern ghats ;
windward side of western ghat. ghats and Mumbai on the
Choose the correct answer :

(Y Both (A)and (R) are individually true and (R) is the correct explanati
indivi ‘ planation of (A).
(2)  Both (A)and (R) are individually true but (R) is not th ect i
(3)  (A)istrueand (R) is false. d AL R
(4)  (A)isfalseand (R)is true.
BBES (A):  Swoeron S %) GH Kwoeron Ko S5 SEFeed) Frothikond.

S*¥x0 (R): B DD EDoH IS Soveywo 3P @od. @R Jwozran HBHDH EhdeH
D58 @dlnporr aobd. '
0@ e JoDE Sdhod -

(1) (A)Ba (R)Botir 2. S0 (R) &30 (A) % S8 Db,
(@) (A)H0as» (R)Bokr 2.5) 59 (R) 36 (A) % SO@S D560 oo,
@) (A) o3R8 a3 26a» (R) &30 3.

@  (A)esde 8y =2 (R)ed0 2

—

P-T 39-D
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Read the following statements
(8  River Narmada flows in a rift valley. .
®)  Vindhya mountains are located to the south of river Narmaqa

©  River Narmadaisawest flowing river.

Which of the statements are correct ?

(1)  (a)and (b)only % () and (c) only
(3) (b)and(c)only ) (@), (b)and ()
808 DSBmes SBS0b :

(a) S 56 dbEEO rbow SSPR00.

(b) SEoe 368 Ko Doy DB STYOD.

© Xoe 36 Hore BSerod 8.

66 JoFR Dstren 2D ?
1) (a)S0c5o (b) Se(Ead 2 (a) DB () SmD
3 (b)d0css (O drEd @ (@) (b)Doaw (0
159. The states having highest literacy rate according to 2011 Census were
(1), Tamil Nadu and Punjab (2)  Kerala and Punjab
Kerala and Goa (4)  Keralaand Mizoram
2011 esegr BEP (Hsebo @é;&é @gm}ﬁéé aR) m@w .
(1)  SDET SO Hoerd (2) S8 50 Bomed
(3) B8Y S0 AP 4) S6¢ SHbas» &foro
160. Match the following:
List-1 List-1I
(@) Mountain Etna ()  Block mountain

(i) Youngfold mountain

(b) Aravalli
(0 Himalayas /7 (i) Old fold mountain

(d) Vosges (iv)  Volcanic mountain
808 B 285858
adoe -1 Do - 11
@) Qe Skdo @[ epB Sdo
b) oS (i) oS0 SwEd Styo
(© erdrediren (i) e Sorsd Jego
@ &9 (v) of StEo
Choose the correct answer/ pairs/38@ avaid/adod J0b8 Jakod :
(M) @) )i, (©-v), () @) - (@)i). (b)-(iv), (c)-(ii), (d)-(3)
3 (@)-) (b)), (c)-(i), (d)-iv) ,44( (a)-{iv), (b)-(ii), ()-(ii), (d)-(3)

P-T

40-D
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161. Z:ami:i:i::;l;l::;l;ge slt::lei:e;f n:b_om_ﬂ-le following articles of the Indian Constitution :
aresubject o the Provision, o'f:ltt]u,:ocz f:;: ;]:):ltl the powers of both parliament and state legislature
®) :)Er:‘;;c;seei iel:sonl Is d.irected to give his voice sample during the course of investigation of an
’ @ Violation of his right under Article 20(1),
Choose the correct answer &
g; Z‘:;:((Z)) E_::o(:'l::e Correct 4(2( Both (a) and (b) are incorrect
B8 nggvsoﬁoé% i — ) (4)  Only(b)is correct
0% S0m0§0% v $680030A ;
@) ggﬁ:ﬂ?ﬁiﬁ:ﬁ 08500 Loty HdA% o) 208 Kefen oeargol oo ol
(b) i;i;;&;ig&:;g; :;:;;:a» 3o e DodéR) 6By 20(1) ©§E5H0 ($SPE0 8 wa¥o
OGN a3zrenid odE JaHod
(1) (2)%Bcs (b)Botlr BB @)  (a)S0ck (b)Bote $B@ID
() (a)ErSD BODIE @  (b)SrED 50
162. Match the following :
List-1 List-II
(@) Narmada bachao andolan ()  Sunderlal Bahuguna
(b)  Chipko movement (i) Daripally Ramaiah
(c)  Biodiversity concept (i) Medha Patkar
(d) Vanajeevi (iv) Edward O Wilson
(v)  Michael Greenstone
808 B adNGSol ¢
05-1 : 03-11 .
@ I oS oS () DosBerd advren
b) 098 wostys (i) B oododsy
© &5 30 o (i) Doe P8
@ 5549 (V) G & denS
v) Do @5@5
Choose the correct answer/pairs /3038 esaraib/aseH JobE Sdhod :
(D) (@)(ii), (b)~(i), (c)-(iv), (d)(ii) @ @) b)), (Hv), (d)-(iv)
(@)(), (b)(idi), (c)-(iv), (d)-(i) @) (@), (b)-(iv), (c)-(v), (d)-(i)
P-T 41-D
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prof, N.N: Wig who expired on 12'" July 2018

163. lxamine the following statements about
(@)  Prof. Narendra Wig was amongst the forem0St Psychiatrists of [ndia.
(®  In1991, the Royal College of Psychiatrists: London honoured him with the highest award of the
Honorary Fellowship of the College.
()  Heis the second Psychiatrist from India to be honoured with that award.
(d)  Hewas the chairman of the World Health OTganisation (WHO) Advisory Panel on Mental Health.
(@  He was born in the West Punjab district of Gurjanwala,
Choose the correct answer :
(1)  (a),(b),(c)and (e) only (2 (a),(d)and () only
B3¥  (a)(b)and (e) only 4  (b).(c)and (d) only
&8 12, 2018 oo Sgids wardy NN. oF 1800 808 Bmes (vorrei) $B8DoSOR |
(a) 58880 @) FogyTnrss IR Ri0s” By SBos OF el BHEEBS KL
©) 19916 TS SEE 65 PAARBRY, 0tS T W0 HENT uf 6 B RS HBFBoE
2 TEJoNOB.
© & Hdost mEDosng grodag, 58 BodS eanAR,
(d)  (B%oS b Hog ‘ErORE o8%0 SO HoLDS w8 FYST e,
@ o8 58 Hoarss’d HbeTe® Berd® aomid.
$O@os asareniy JobE IcHod :
1) (@) 0), () SOc () SmED @) (a)(d) B (e) S
(3)  (a), (b)SoBcko (€) (2D () (b).(c) SOt (d) Sl
164. As per ‘Socio Economic Outlook - 2018" and 2011 Census, the following districts have lower sex ratios in
Telangana. Arrange them in the descending order as per sex ratio :
(a) Hyderabad (b) Wanaparthy () Jogulamba Gadwal
(d) Rangareddy () Medchal ()  Sangareddy
Choose the correct order/answer :
(1) (a)(e),(d). () ()and () 2 (o) () (d) (f) (b)and ()
o @0, HandE @ (©.0,0)) @and(d)
DBGEP DESNE TSenk - 2018 £Bck 2011 esirgr B [BSPo Bvorres &9 80b Bepod® doK (Bon¥)
0:5)8 ST G0B. & Bepuid BonE AYB HEevo BIE T EsSo08® @80l :
@ ooeeh (b) 38 @ &rboron Koxs
(d) Yorrdg (€ DS () Sorrdg
$OGo [HS0% / erenid JobE Schod :
1) (@) (e) (d), (b), (c) 0O (f) @ (e (@) (d) (@) (b)0 ()
3)  (d)(a)(e) (b) (f) DB (c) @ () (), (b) (e) (@) 20a (d)
P-T 42-D
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Examine the following stateme

(@) Article 51 deals with the Fypg amental Duties. %~
uhes.

Fundamental Duties were ; o
(®) ¢ ‘ ere INcorporated in the Constitution through 42"d Amendment Act 1976\
()  Fundamental Duties cannot be enfore ed by ‘writs’

(d)  Fundamental Duties cannot pe Promo

nts regarding the Fundamental Duties -

ted by Constitutional methods.
Choose the correct answer :

() (a)and (b)only @ (b)and (c) only
(3) (a)and (c)only @  (a),(b)and(c)
(B Do Sowodod dog VOB $68D0S0R

(@) ©BSS 51 (@FWE e 8eHson.

(b) 1976 Sony 4235 Toess0K S Tooe (D8 Do D oSS,
(€ 08 oo IDPEDE Do ooey Fawdo,

(d) oeergol 5¢g§;oé“ (PEDE Deerso F&oFer SchHdo.

SO asTrand JodE Taol

(1) (a) B0 (b) Se&Dd @ (b) 50 (c) Sridd
B)  (a) %00 () SHED @ (a) (b)Bas (o)

166.

P-T

Regarding the state bills reserved for President’s consideration, examine the following statements :
(@) President may declare his assent to the bill.

(b)  President may return the bill to the state legislature for its consideration.

(c)  Statelegislature shall reconsider it accordingly within a period of six months.

(d)  Ifthe legislature again passed it with or without amendment, President shall approve it.

Choose the correct answer :
(1)  (a).(b)and (c) only (@) (), (b)and (d) only
(b), (c) and (d) only (4)  (a)and(c) only

oYER8 Tobs Dey TFIS wIrmRS SO, TFHB ©HSTIE $omosod 8ob VSBmes S68D0S0R -
(@) PS8 © Den SodBo BB

b) TFEDS 3¢S HI:0080N FEH ToPHd 8 SodSWy).

© TFE8 TS wordmone o EE B¢ 6300 679 H%:508D0.

@ S58008® Mo do sstne BHom MR BoESFO Of XS 34 eIraR, TPHs S5R50m

Jo880 Ba5rd.
SO arad JodE IaHod :
M (), (b) DB (c) SriesH @ () (b)DBat (d) S
G)  (b), (c) S0a (d) ErigD @) () SO () D

43-D
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pmine the following statements :

](‘7. ié D p I lnws. I this epar Ll'\ 4 i .
E‘a;rh ‘“:!;‘l‘\:l:::‘i:::Ili::i\i:w ;:I‘.:::-:flf::;:i‘i\ll be introd urcltl in either house of the parllafner;‘tc,)um
b Al members of the parliament have the righ! Uill)l!lrml!_“v bills in their respective NOUIS.
ill may be fuced vither by a minister or by a private member. .
ifi)) {?Tﬂ.’ff I‘;\.'ls‘h:'l:“lril‘l:t:Il:lti;I:vld‘in e official gazette before its introduction, N nvoion fur: leawe:to
introduce the bill is necessary.
Choose the correct answer:
(1) (a), (b)and (c) only (2 (b).()and (d)only
3 (a),(b)and (d) only @  (a)(c)and (d)only
oS Stoen Biyod. B Sop0B0d 80b ©OTLH $68D0S0l :
(1) Q8 Depd® O oY Dexoin, gD $506° D $g56° wowe B3 DRZR
b)  EDos Sggposss =6 =0 S0t Do HIEVE whso aoLw0l:
O Do 0@ S0, RIE Seoe S0 BT DI, 5
)  E3T0y08 swod $hs0s (BES" BH00DN g 556 (A TRee08 DemoB oD w30
8.
SOES aTrandy JodY Tadod |
1), (a), (b) S8 (c) SPSD @ (b),(c) EBs (d) KD
(a), (b) Bt (d) SRS @) (a) () %0t (d) SrEd
i
168. Examine the following statements: ; - .
(@)  The Indian Government approves corpus of 25,000 crore for setting up of "Micro Irrigation Fund
(MIF) with NABARD under Pradhan Mantri Krishi Sinchayee Yojana (PMKSY).
(b)  The’Microlrrigation Fund’ would substitute 'Per Drop More Crop’ (PDMCQ) component of PMKSY.
Choose the correct answer': ;
(1)  Both (a) and (b) are correct. (2) Both(a)and (b)are incorrect.
(3)  Only (a)iscorrect. (4)  Only (b)is correct.
800 worod H08DoS0d _
(@) ‘B58 S0® B dowran @res’ (PMKSY) S0k e (NABARD) 8 E* 567&S $ob' (Brg
BA e 20) Domin S50 grsd (58080 T 5,000 & SPEP wIrBOD08.
9 )
(b) (HES Hol8 (B dowrow G erKDS B8 I8 HHH KRS Ho’ (H6 &5 6 15°9) B
e Ve 8 B0 VYR @3&’&&363.
SO eareri dodE Babod :
(1) (a) 00w (b)Botr SOEID. (2)  (a) 5005 (b)Bokr FOTID =D,
9)/ (a) EPESD SOFIO. @  (b)SPED SB@RSB.
169. Which of the following responsibilities are under the preview of the Finance Commission ?
(@)  Sharing of net proceeds of taxes between the centre and states.
(b) Recommending the principles for governing the grant-in-aid to the states by the centre.
() Recommendation on the matters referréd to it by the President for the interest of sound finance.
Choose the correct answer :
(1) (a)only (2) (b)only (3/ (b) and (c) only @ (a), tb)'and ©
800 BS* D antgBen ¥RY Moo I6HS*8 SJw?
(0) Sipe V88 woraird Sogo Hbaky cFpe S BN
) Sogo e wolod ¥istairel Yopofods IWIFOD DPED Icwo.
(© OVER0 MrSSol ehrbnom ol P ErPPoB0IERS SIIEDN HJEHen Jabo.
A0S erandd Jobs Sabol :
- (a) SID @D OirEd @) OIBEOINED @) (a), (b) 20 ()
P-T 4-D

www.sakshieducation.com




170.

www.sakshieducation.com

P

Examine the following statements about the NITI Aayog of India :
(a) It was established to Provide
of Indian economy,~

b It I'xelps to evolve, promote and strengthen cooperative federa]jsm‘/
()  Itformulates five year plans for India. v/

(d) Itwillcreatea knowledge, innova

& critical, directional and strategical inputs to the development process

tion and entrepreneurial support through collaborations.
Choose the correct answer : Hrep PP &

Q)/ (a), (b) and (c) only
@3)  (b).(c)and (d) only
Ao Tal (o 1oM FdoswdS dy (NTTT) saeF; s,

(2 (a),(b)and (d)only

4)  (a)and (c)only

$o®000d% 808 wodres HB8D0SOAR !

O ST OONS TS 5905 o el ©8a5S woBoSTm08 5D wd Dot

(b) FESTES" SirseS Soogy KD D) BroSErs, BOTESERE, ErRroBoSEOS b E%KE08.
(© erE80I8 DouSY, (Herses, Er0808.

@ eipomre oy SOFTRY, SSEe)So, SRS SHEHE &% S0 KDyR0B.
BSOS e JodY THoA :

(1) (a), (b) SBa (c) SmeD @ (), (b) SO (d) S

(3)  (b).(c)SoBco (d) Soriesad @) (a) S0 () S

171,

Examine the following statements about the ‘Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Amendment Act, 2015" ;

(a)  The Actcame into effect from October 2, 2015.
(b)  Special courts are to be established for speedy trial of the cases related to offenses against members

of the SCs and STs.

()  Preventing tribal people from using religious, health and educational institutes is also made
punishable by law.

Choose the correct answer :

1) (a) (b)and () @) (a)and (b)only

(3)  (b)and(c)only 4) (a)and(c)only

Qg Heren, S Ko (SR Dardin) $586 3K’ 2015 0009 808 sosve 5680080k :
(a) @&b 2,2015%08 & S0 DS S0B.
(b)  SCoBasn ST Sehse S58BEor abh Jore Konosods Twek SKSosorr Db aESmOs

e (H858 8o doven Jaird.

©  ABesS (Hesen SoSBER, wEHHERS B ITFSEHH Jogos 5@PA0HE Do dboSto
Erge SQSsE0 Bgrdo.

SOEN aTrend oY Jabhod : .

(1) (a), (b) S8t (c) 2)  (a)00akw (b) S

(3)  (b) 00w () S SH @)  (a)soBakw (c) S FD

45-D
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172. Examine the following statements: .
(@)  Integrated Goods and Services Tax (IGST) would belevied by the central government and collected
by the state governments on inter-state supply of goods and services.
()  GST council was created as per the Article 279A of t.h(-‘ amended Constitution of India.
(©) Telangana was the first state that passed the GST Bill in India.
Choose the correct answer :
(1)  (a)and (b)only 2  (b)and(c)only
(3) (a)and (c)only @ () (b)and(c)
808 womred $568Dos0d :
(a) Sy stohse sy (IGST) & Sd0 SoSHG SEI0p DHJ0. & Bigd Zo(5 (Hep0
268, ool Bebergen Sren SFaD.
b) rESSED $5005pAS Temolios® 279A ©855R0 [Bto GSTFYS (Sotd) Grrobosalod.
© erssd8o6® GST Depid w@rHod 20656 o Beorre.
[HOT0N ATe0d JodY Wabod :
(1) (a)200cko (b) S (2)  (b)SoBkw (c) Soe(ead
@) (a)@BAk (c) S @) (@) ()00 (o)
173. Examine the following statements about constitutional interpretation of environment by Supreme Court of
India:
(@) The principle of ‘absolute liability’ was laid down in Oleum Leakage case.
()  The concept of sustainable development was introduced in Rural Litigation and Entitlement Kendra,
Dehradun Vs State of Uttar Pradesh case.
(©  ‘Polluter pays principle’ was adopted in Indian Council for Enviro Legal Action Vs Union of India
case.
(d)  Exhibition of slides free of cost on environment in Cinema theatre was ordered in ‘M.C. Mehta Vs
Union of India’ 1991 case.
Choose the correct answer :
(1)  (a), (b)and (c)only (2  (b)and(d)only
@) (a)and(c)only @ (@) (b)(c)and(d)
58 obo 5% BSoHteos Tergoll griiie 3T Bob ASEeoD 56880508,
(@) EDE e Srigo L0 B8 aragod® Bholiod.
b) RO ePB)G S e DERKS ok oBBEDOES S0, BEErS Vs RS 6f 686 (538
3‘315066 BSIFe@k0B.
© ‘et ¢oomrd’ Sr@otd 208055 TYS H56 JG® HKS aIrES Vs SrdadS s aoddir
Feyg08® eTrbobRld.
d) Sos0 BEGS st Sostnop edsor R ok BEQOTPOR AH.D. Do Vs chrdaHS
65 20865 1991 rees’ eS8y asywiod.
50&o waredd JobE Dandv ;
(1) (a), (b) SO (c) S @)  (b) B (d) SmSH
@)  (a) 00w (c) SRS ' @  (a) (b) () B (d)
P-T 46 - D
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174. Examitm the following, "lﬂh.'l?\vnln about the 'European Bank for Reconstruction and Development (EBRD):
(a)  The bank was SCLUPin 1991 aftar ghe (1l of the Berlin Wal |
(b)  The bank’s headquarter ig loca e in Berlin.

2 - » “'I
(©)  India became the 69 shareholder of the bank.

(d)  The bank aims at Promoting public i P
ic infrastructural initiatives in e i : )
Choose the correct answer : in emerging Europe

(1) (), (b)and (c)only

(3)  (b)and (d) only

.aﬁ)ébclméc:o bablale @Qﬁe)% 850 st
50800508 :

@)  BYS A () 3850 S & emor; 1997 6 domen Babhelob.
() emgod @eS STUFRADO BETES a0p,
(©  ergoH Gk 69D T grssEo 3808,

(@) oot oFjo DB Wt (5o 78 sepvaire Koy Bemroso.
OGN aarend JoE Tahod

(1) (a), (b) HBK (c) S

(2) (a),(b)and (d) only
(4) (a)and (c)only
DADS erso’ (EBRD) /9800 808 DdSbmeds (soeois)

@ (), (b) 5080 (d) S

(3)  (b)oBosw (d) SrED @) (a) B (c) Sr S
175.  Match the following states with their respective Maternal Mortality Rates (MMR) during 2014-16 :
State MMR
(@) Kerala @ 237
(b)  Assam (i) 199
(c Maharashtra (ii)) 66
(d) Rajasthan (iv) 61
v) 46
2014-16 SP00é® 808 TP B (H5r8 SHbre et (MMR) 23855508 :
oo (B5r8 S¥ere Tin
(a) 3oy (i 237
b) ©d¥p @ 199
O Doy (i) 66
@) oaPsS (iv) 61
(v) 46

Choose the correct answer/ pairs /S0&S arad/adoH JodE Jabol

@ @-(v), (b)-(i), (c)-(iti), (d)-(i) (@)-(v), (0)-(3), (c)-(iv), (d)-(ii)
G)  (a)-(iv), (b)-(ii), (c)-(i), (d)-(ii) @) (@)-(idd), (b)-(id), (c)-(iv), (d)-(i)

On which of the following dates did Pandit Jawaharlal Nehru laid the foundation stone for the construction
of the great Nagarjuna Sagar Project ?

176.

(1) 1 August1955 (2) 11 December 1955
(3)  1October 1956 (4) 1November 1956
| 2536 o8 o e AeKE (B AoyeEnSS FoHpDS IVY 38 6 ?
| (1) 1eKy 1955 (2 11 &%o8 1955
B3 1 @E:ags 1956 (4 1358028 1956
47 -D
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Which one of the following statements is not correct !

(1)  Dr.BR Ambedkar favoured smaller states.

(2)  Masuma Begum was the first Vice-Chairman of the ”l‘t'filngam Regional Committee'.
(3)  Telangana Mahasabha was formed in 1957-’ '

(4)  K.R. Amos was the founder President of the Telangana Non-gazetted Officer's union’.
B0b BbSred® X058 28 ?

(1) o B.66. 0ol O%) TEEe e EgEa VBT,

@) s Ao ‘Boorem @roBab SD& 2058 35-34S.

(3) 1957 & ‘Bovorre P, TS AT Qc‘j::oa"d).

@) ‘Boorme wSAABE whidf) SrRERS BPPIE oL 8,66, 6Irs.

e

178.

Dr. Burgula Rama Krishna Rao wrote a lengthy letter making his stand on separate Telangana to the
Congress President. Who among the following was then the President of Congress ?

(1) DX Baruvah (2) H.N.Bahuguna

@  JB.Kripalani (4)  UN.Debhar _
oo eardye TPEE)E TR ($H8g8 Boorre 5ot 85 edFrdireH Baydr scod®d o558 2.8 .'bég Sy
R, e SOl BeHo 86 ?

(1) &3 2% (2 TR a0

() B0 gPed (4) .28 Jab

179.

After Dr. Marri Chenna Reddy was arrested under the Preventive Detention Act in
July 1969 who among the following women, Ie;?e T.PS. agitation:

(1)  DurgaBhaktavatsalam Sadalakshmi

3)  Roda Mistry (4)  Sangam Lakshmi Bai

oo S 397 BE S0t MgogH (B.8.) $0 6 1969 278 F0é® eOHoS SogE Boorrs B
BB (808 aEr) FOFNODD Sodrge arahETren D5 ?

(1) oo gEsEo 2) Sorof)
@) & 2R @ oKo oferan
180. Match the following :
Programme Organisation
(@) ‘Telangana Poruyatra’ (i) BP
(b) ‘Telangana Prajayatra’ i) CPI
() 'Telangana Vidyarthi Ranaberi’ (i) ABVP
(d) ‘Telangana Yuddaberi’ (iv) Telangana Sangarshana Samithi
28BS
S S0
(a) ‘Boorrs AT i 8
(b) ‘Boorres Herde’ (i) .6
© ‘Boorrs JoP BnEd (i) 2.90.92.
) ‘Booree angEHY (v) Boorrm Sogm SMd
The correct match is/P0G0N &
1) (@) (b)-(i), (c)-(iv), (d)-{iii) @  @F), (b)-(i), ()i, (d)-(iv)
@) (@)(i). (b)-(D), (©)-(i), (d)-(iv) @ (a)-(iv), (b)), (c)-(ii). (d)-6)
P-T 48-D
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The 1969 agitation for separate Statehood began on the issue of employment at -
( Kothagudem Therma) Power Plant
)  Singareni Coal Mines
(3) Nizam’'sSugar Factory
1969 6% SEE o 65550 8oa 3 5o 60 B DAt $ogS* (6oeiDod ?
Q
) SETo §5S Dy EEON
2) Dorde &% Hioen
() Rero IKK Soprssy
(4) ©SoBS3S ooy 5% Bares 0
®

182.

o e e
Arrange the following in Ch.ronologica,[ order :

(@)  Telangana Praja Front was formed by Gaddar. v

() "Telangana Dhoom Dham’ was held at Kamareddy for the first time.v”

(© Commymst party of India organised "Telangana Poru Yatra’ from Jodeghat to Hyderabad.
(d) Bharatiya Janata Party organised ‘Poru Telangana’ from Hyderabad to Bhadrachalam.
Bod T8 SBHREB0S Dy -

(@) "Boorrs @30S S HEE Soren Favo,

(b) ‘Boorrem Gro PO’ IneInSBIEmT SEr0S 6° AtktroT.

©  &e58aD S5ogOR 38 S S ol RS 556 Beorem B SIS SSeptn.

(@) 00D s> 2E IECERD Dol gorseo 585 D Bvore’ SEYESPRY NSIroT.
Choose the correct answer /30@%S amran JobE SaHol -

1) (b)) (c)(d) 2  (®)@).).(© ,(35/ @). (b), (0), (d) @ (©.(d).(b).(a)

183. Match the following :
List-1 List-1I
(@) Ampasayya Naveen () Pantulamma
(b)  Sangishetti Srinivas (i) Veguchukkalu
(©  Devulapalli Ramanuja Rao (i) Kalarekhalu
(d Madireddy Sulochana (iv) Shabnavis
(508 8 asHtHs :
adac-| eedae - 11
(@) ®oBIaig SDS () Sodedy
)  Son3d #d=>S (i) SoSHen
© TS vsmde oo (i) sceBwen
(d) Sr68E 6tss (iv) 3[R
The correct match is/S0GHN &8 :
(1), (a)iii), (b)(iv), (€)(ii), (d)-(i) @ (@Hv), (b)), ()(ii), (d)~(i)
9‘7/ (@), (b)-(i), (i), (d)H(iv) @ @), (b)iv), (c)-(i), (d)ii)
P-T 49-D
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184. K. Achuta Reddy was elected as first Chairman for the Telangana Regional Council by defeating

H{ B.V. Gurumurthy (2 Mir Mohammad Ali Khan
@)  RaviNarayan Reddy (4) BaddamEllaReddy
2559 £.800 3. ey B8 Bvorms @obab $0E5 STRD san 2

1) .9 K%HBmY @ 80558 ob 5

@) oD Forahes 06 @) 8o Jer 38

e

185.  Which one of the following Commissions was appointed in 2002 by the State Government to study on
implementation of G.O. No. 6107

(ﬂl{ Jaya Bharatha Reddy Commission 2) ]M. Girglani Commission

(3) KR AmosCommission (4)  Purushottama Rao Commission )
2002 H0ué® T (©§HI0 8.2 J0. 610 oo S50 S 55800308 DB WX 2B
(1)  scherds B8 SIS () 8o ABED SRS

@) 8.eb &3r% 5N @) DBRED P SRS

e

186. Who among the Telangana leaders was the first to suggest Vishalandhra ?

(1)  Gulam Rasool Khan (;")/ J.V. Narasinga Rao
(3) Devulapalle Ramanuja Rao (4) KV.RangaReddy
Boorrs TEHHeS® A5 IS “DECOER” JTrdodd ?

Q) e 550G 8 @ B SBoKTI
B) BHoDY Trdrde 7Y 4) 3.2 Boredd

187. The two political parties which did not support the agitation for separate statehood in Telangana were :

(1) BJPandSP. )  CPI(M)and BJP

(3)  CPI(M)and MIM (4)  CPI(M)and BSP

8ob D Tresbah FFen (HEE Boorrm GRS DR BEB0SBD ?

1) B2 DB RS @ D.O.®.(c%0) Doaw DED.
@) 2.0..(cHo) HBcin Jo.8.20. @)  D.D.®.(cho) HOx D.AVD.

188.  The Linguistic Provinces Commission set up by the Government of India in June 1948 was headed by

(1) SK Patil 4% SK Dhar @3) Pataskar (4) PN Haksar

1948 =S & erES (H5¢HB0 B8 AAHMOSHAES Frar (P ooaPe SITD DD 3D ?

1) N3 >85 ) N2 5 @) Ses @) DT 8
P-T 50-D
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189.  Assertion (A): [n 2001 lf'n:al body elections, the T.R.S. made an impressive show by getting 18 percent
ol votes in the Telangana region. :
Reason (R): iecrluse of the growing official neglect towards Telangana region in United
'T‘“ ra Pradesh State K. Chandrashekar Rao Left ‘Telugu Desam Party’ and formed
elangana Rastra Samithi’. '
The correct answer is :
g EOT (A)and (R) are true ang (R) is the correct explanation for (A)
) Ot.\ (A) and (R) are trye ang (R) is not the correct explanation for (A)
3)  (A)istrue but (R) is false
(4)  (A)isfalse but (R) is trye .
(BOPES (A): 2001 & ety SRS Roge IYEE® B.66.35. 18 £°80 Lég KoB0D wapd SO0A.
s8wo (R): @méé COBEAS oogins® Beore (Hoso B Sofy) ods08 gy Swos
$580%ore 3, SoEEpboeg Beurt B D $69 Bvoree oog SBY oI,
RO DaSBes
(1) (A) 00 (R)Dotlr Resisv, (R), (A) & $6ES Di5esco.
(@) (A) DB (R) Dot desiky, (R), (A) % SO@oS DSBes SO
@) (A)Jzso S (R) 8y,
@)  (A)SH D (R) Jesisw,
190. Ehe poll survey conducted in 2011 by the Centre for the Study of Developing Societies (CSDS) was headed
y:
(1)  Rajdeep Sardesai (2)  Yogendra Yadav
(3)  Pranay Roy (4)  ArnabGoswami
2011 Son&® 006 35 & f BSuboR FpAS ®.95.8.05.) 3 N0y VBRroDS (HerPHrah Ve
D0 eios® adhod ?
(1) =B85 SBevow 2 o amss
B) (e oodh @) oBS A3
191.  Identify the wrong pair :
(1)  Palle Kanneru Pedutundi - Gorati Venkanna
(2)  JayaJaya he Telangana - Andesri
3) Urumandira - Chada Anjaiah
@ Amma Telanganama - Gaddar
S0R e 1H%0808
(1) 38 8 podos - KBS oSy
@ =deadicBeorn -  wodd
(B)  &thseoe - oo womaly
4) sa‘n& 8e0rmedr - 595
P-T 51-D
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192, According to Gentlemen's Agreement two out of the following portfolios were to be assigned to ministers
from Telangana. They were:
(1)  Home, Finance, Revenue, Education, Commerce and Industries
@) _ Home, Revenue, Industry, Education and Planning
Home, Finance, Revenue, Planning and Developmentand Commerce and Industry
(4)  Finance, Electricity, Industry, Education and Rural Development
Db edjoto EEEED & Eob epud’ 00E00A Buomn 08 Serasomd. €3
M) 2o, 6y, T, Ay, Tee Hobaso HO(FHen
@) 2o, BB, SOFen, Doy HO apRoh
@) D, 6Py, oIS, 0of SOy €53 O areygin Bk HBFSen
@ g5, DS, SOESoe, Desg Sodasw B8 BS0DDods
I
193. Which one of the following statements is not related to the all party meeting organised by Kasu Brahmananda
Reddy, the Chief Minister of Andhra Pradesh?
(1) Al party meeting was held at Ananda Nilayam on 18% and 19t January 1969.
(2) Toimplementall party meeting decisions the G.O.No. 39 was issued by the Government of Andhra
Pradesh.
(3) 1J.Naiduand R. Vittal Rao were appointed to implement the decisions of all party meeting.
(4) TheState Government appointed Kumar Lalith Committee to estimate surplus reserves of Telangana
on 23" January 1969.
& (B0B (HS5S5SneS® OB solBREE Sragold s° (@FHNoKos dotn 305 oo SE HIRBIENID
$000809 96 ®anod S ?
(1) w550 18 H0ak» 19, 1969 6° o S Sirddo 6o Joahos® wbB.
@) oo S5 Bchiven eHedcneD oFHds HeosyEn 8.5 Jo. 399 DB 3nob.
@) .8 T HOc 6b. DS e eho HF D8 Mgaired een SEHe8 Aahvosold.
@ Boorres Dibes Ao colT IS T BB 23, @556, 1969 LG 008 5082
QadHironod.
194. The political domination of Andhra ruling class over Telangana resulted in :
(1)  Both theregions enjoyed the fruits of development
(2) Establishment of separate Economic development zones
(3) . Increased agricultural income
jﬂ( Made the people of Telangana as passive recipients
Boorrn® o o SBJ oeesfcd Q¥ HdSore :
(1) Bokr @otren ©HH)E Joren Drobeon
() (S8 wdsPH)R Sokeren AT?)E0DTPOD
(B) HgEIrado Hol sorabo HBACH
@) Boorrs (Huen SSeo (DES Sore ADIVANO
P-T 52-D
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" R Bt 1 et ke e g
(1) Ttconducted a Peasants March to the District Headquarters
(2)  Itproposed “Chalo Assem bly”
: . fg Cagainst Elcctricity Board
;;"::;i;ﬁ; ?55 &858 Berome, 48i5o06" @GRS S hoton. 8o B D @ Ky @t
(1) &8 Zep Solr08 sy GRS
(@ 36 wof)" s 20808,
@) Boorre Baef &8 NS08 uh waom: 4 BeSB0sto.
@) dognd 58S S8dsom oo TR Bgtco.
196. Identify the wrong paif_i__-___—__‘______
(1)  Telangana Martyrs day 17 May, 1969
(2)  Telangana Protest day . 2 June, 1969
By Telangana Betrayal day 20 April, 1969
4)  Telangana Women'’s day 17 June, 1969
[0 w8 HoSos
(1) Beore esdthe &30 17 3, 1969
(2) Boorre JBHS BSo z 2y, 1969
@) 8oorre oSS B - 20 JBS, 1969
(4) 8oorrn Hdrer B0 - 17 a=§, 1969
197.  Assertion (A): The fruits of new market economy unleashed from the 1990s were enjoyed mostly by
the Andhra ruling class,
Reason (R): The pitfalls of development were borne by the people of Telangana.
The correct answer is :
Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both(A)and (R) are true and (R) is not the correct explanation of (A)
()  (A)is true but (R) is false
(4)  (A)isfalse but (R)is true
(P8ISS (A): 1990 H008 (@D Ir8S SrT)S QS 58 D) Pero Se wolFoBostD FossBo
eS80,
80 (R): 5B DHE e Seodril) Boorn (B gostes 5908,
JOGDS DGk :
(D) (A)5Basw (R) Botse Desisv, (R), (A) & SO Didtse.
(@) (A) B (R)Botr Jesism, (R), (A) © BN DHBea s
() (A)dasin =2 (R) S,
4 (A) 8 = (R) Do,
P-T 53-D
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198.  Arrange the following important Agitations in chronological order under the leadership of students of

Osmania and Kakatiya Universities.

(@)  ‘Telangana Vidyarthi Garjana’
(b)  “Chalo Assembly’

()  ‘Telangana Vidyarthi Mahagarjana .

(d)  “Vidyarthula Polikeka’ by Kakatiya University Students 2 gt

(@)  ‘Boorrwm Do Foge’

(b) ‘$6° wod)

(€ ‘Beorrg :Javég Sospriges’

@)  s8Bosh crBeyS domged Atrosnd Drgge SO

Chpose the correct answer /RS0G5 e Do Babod :

(J?m (a), (b), (<), (d) @ (b)) (d) () @ (9)(b)(a).(d) @ @@ ®@

199.  Which one of the following statements made in A.P. Legislative Assembly in June 1961 is not correct ?
(1) “If the Government takes immediate steps to provide basic necessities to the people of Telangana,
then there is every possibility of emotional integration of both the regions at the earliest
-P.V. Narsihma Rao.
(2)  “The Securities and Revenue surplus of Telangana has been spent on Andhra region. If only that
amount and another four to five crores were spent on Telangana, it would have developed well”

- P.Sundarayya. _ ‘
(6{ “Itis five years since Vishalandhra was formed. But there has been no emotional integration. The

policies of N. Sanjeeva Reddy were responsible for it - Ravi Narayan Reddy.
(4)  ”No one wanted to rob Telangana money. We are just thinking as to how to solve the problem”.
- Chief Minister N. Sanjeev Reddy.
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200. Identify the leader who did not appose the disintegration of Hyderabad state and
represented the same to the states Re-organisation Committee.

(1) Pundit Narendraji (2) Pundit Vinayak Rao
Gopal Rao Ekbote (4)  Kotturu Seetayyagupta
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